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2.
Would redistributing incomes from the rich to the poor reduce the overall problem of scarcity?

Yes, to the extent that the gain to the poor is greater than the cost to the rich. Nevertheless, it is difficult to give a categorical answer to this question. It could be argued that £1 gained by a poor person is more valuable to them than £1 sacrificed by a rich person: the more money you have the less valuable to you is each additional £1. If this is so, there would be a net gain in human welfare by such as redistribution. The problem, however, is in comparing one person’s happiness with another: happiness is not something that lends itself to measurement.

4.
Which of the following are macroeconomic issues, which are microeconomic ones and which could be either depending on the context?


(a)
Inflation.


(b)
Low wages in certain service industries.


(c)
The rate of exchange between the pound and the euro.


(d)
Why the price of cabbages fluctuates more than that of cars.


(e)
The rate of economic growth this year compared with last year.


(f)
The decline of traditional manufacturing industries. 

(a)
Macro.  It refers to a general rise in prices across the whole economy.


(b)
Micro.  It refers to specific industries


(c)
Either.  In a world context, it is a micro issue, since it refers to the price of one currency in terms of one other.  In a national context it is more of a macro issue, since it refers to the euro exchange rate at which all UK goods are traded internationally.  (This is certainly a less clear–cut division that in (a) and (b) above.)


(d)
Micro.  It refers to specific products.


(e)
Macro.  It refers to the general growth in output of the economy as a whole.


(f)
Micro (macro in certain contexts).  It is micro because it refers to specific industries.  It could, however, also help to explain the macroeconomic phenomena of high unemployment or balance of payments problems.

6.
When you made the decision to study economics, was it a ‘rational’ decision (albeit based on the limited information you had available at the time)?  What additional information would you like to have had in order to ensure that your decision was the right one?

You will have to answer this one for yourself!  The amount of care taken by prospective students to find out about their courses and what they entail differs enormously from one student to another.  Your decision would be a rational one if you did your best to weigh up the advantages and disadvantages of alternative courses, and chose the one that seemed to have the best balance of advantages over disadvantages.



The sorts of information that might have helped you make the right decision include: talking to students who are already studying economics, reading about the subject, talking to teachers/student advisers, finding out about the sort of jobs you can do with an economics qualification.  A problem for many students applying for courses is that they are already studying for exams (e.g. A levels) and that the time spent researching courses is time that could have been spent studying: in other words, the opportunity cost of the research may be a poorer A level result.

8.
Imagine that a country can produce just two things: goods and services. Assume that over a given period it could produce any of the following combinations:

Units of goods
0
10
20
30
40
50
60
70
80
90
100

Units of services
80
79
77
74
70
65
58
48
35
19
0


(a)
Draw the country’s production possibility curve.


(b)
Assuming that the country is currently producing 40 units of goods and 70 units of services, what is the opportunity cost of producing another 10 units of goods?


(c)
Explain how the figures illustrate the principle of increasing opportunity cost.


(d)
Now assume that technical progress leads to a 10 per cent increase in the output of goods for any given amount of resources. Draw the new production possibility curve.  How has the opportunity cost of producing extra units of services altered?
 
(a)
See the continuous line in Diagram I.1 below.


(b)
5 units of services.  Producing another 10 units of goods means producing a total of 50 units of goods.  Thus, referring to the table, production of services has to be reduced from 70 units to 65 units: a sacrifice of 5 units of services.


(c)
Each additional 10 units of goods produced involves an increasing sacrifice of services.  Thus increasing production of goods from 0 to 10, to 20, to 30, to 40, etc. involves a sacrifice of 1 (80–79), then 2 (70–77), then 3 (77–74), then 4 (74–70), etc. units of services.




Similarly, increasing the production of services involves an increasing sacrifice of goods.  This can be seen by starting at the right-hand end of the table and moving to the left.  Smaller and smaller increases in services are obtained for each extra 10 units of goods sacrifice: in other words, for each extra units of services obtained, more and more goods must be sacrificed.


(d)
See the dashed line in Diagram 1.1 below.  The opportunity cost of producing extra services has increased (by 10 per cent): in other words, each extra unit of services produced involves a sacrifice of 10 per cent more goods than previously.
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Introduction:  Boxes
Box I.1: The opportunity costs of studying economics

1.
What might prevent you from making the best decision?

Lack of knowledge.  You will not know just how much benefit you will gain from the textbook until you have read it, taken your exams or had your assignments marked!  Another cause of making poor decisions is the lack of care taken in making them.

2.
If there are several other things you could have done, is the opportunity cost the sum of all of them?

No.  It is the sacrifice of the next best alternative.

3.
Why is the cost of food, entertainment, etc. not included as opportunity costs?

Because you would buy food anyway.  If, however, food were being provided free of charge by your parents if you lived at home, but you had to pay for it if you went to university or college, then food would be an opportunity cost to you.

4.
Make a list of the benefits of higher education.

The benefits to the individual include: increased future earnings; the direct benefits of being more educated; the pleasure of the social contacts at university or college.

5.
Is the opportunity cost to the individual of attending higher education different from the opportunity costs to society as a whole?

Yes.  The opportunity cost to society as a whole would include the costs of providing tuition (staffing costs, materials, capital costs, etc.).  On the other hand, the benefits to society would include benefits beyond those received by the individual.  For example, they would include the extra profits employers would make by employing the individual with those qualifications.

Box I.2: Green economics
1.
Should all polluting activities be banned?  Could pollution ever be justified?  Explain your answer.

Most economists would argue that many polluting activities ought to be allowed to continue. It might be wise to ban certain very seriously polluting activities, or those where the effects of pollution are not known.  In other cases, however, economists argue that governments should attempt to weigh up whether the full marginal benefit to society from the polluting activity (i.e. the extra production of desirable goods and services) is greater or less than the full marginal cost to society, where that marginal cost includes the environmental damage done by the pollution.  Of course, this will require measuring the pollution damage: something that is not always easy to do.  Economists generally argue that if the marginal cost to society from production (including the pollution damage) exceeds the marginal benefit, then production should be cut back; but if the marginal benefit exceeds the marginal cost, production should be increased.

Chapter 1

2.
Why do the prices of fresh vegetables fall when they are in season?  Could an individual farmer prevent the price falling? 
Because supply is at a high level.  The increased supply creates a surplus which pushes down the price.  Individual farmers could not prevent the price falling.  If they continued to charge the higher price, consumers would simply buy from those farmers charging the lower price.

4.
The number of owners of mobile phones has grown rapidly and hence the demand for mobile phones has also grown rapidly.  Yet the prices of mobile phones have fallen.  Why? 
· The costs of manufacture have fallen with improvements in technology and mass-production economies.

· Competition from increased numbers of manufacturers has increased supply and driven prices down.

6.
This question is concerned with the supply of oil for central heating. In each case consider whether there is a movement along the supply curve (and in which direction) or a shift in it (and whether left or right).


(a)
New oil fields start up in production.


(b)
The demand for central heating rises.


(c)
The price of gas falls.


(d)
Oil companies anticipate an upsurge in demand for central heating oil.


(e)
The demand for petrol rises.


(f)
New technology decreases the costs of oil refining.


(g)
All oil products become more expensive.

(a)
Shift right.


(b)
Movement up along (as a result of a rise in price).


(c)
Movement down along (as a result of a fall in price resulting from a fall in demand as people switch to gas-fire central heating).


(d)
Shift left (if companies want to conserve their stocks in anticipation of a price rise).


(e)
Shift right (more of a good in joint supply is produced).


(f)
Shift right.


(g)
Movement up along.

8.
On separate demand and supply diagrams for bread, sketch the effects of the following: (a) a rise in the price of wheat; (b) a rise in the price of butter and margarine; (c) a rise in the price of rice, pasta and potatoes. In each case, state your assumptions.


(a)
The supply curve will shift to the left: the price of bread will rise and the quantity sold will fall.




Wheat is used to make flour, which is used to make bread.  If wheat goes up in price, this will increase the cost of producing bread and hence shift the supply curve (upward) to the left.


(b)
The demand curve will shift to the left: the price of bread will fall and the quantity sold will fall.




Butter and margarine are complements for bread.  If they go up in price, less ‘bread-and-butter’ will be consumed.


(c)
The demand curve will shift to the right: the price of bread will rise and the quantity sold will rise.




Rice, pasta and potatoes are substitutes for bread.  If they go up in price, less of them will be purchased and more bread will be purchased instead.

10.
If both demand and supply change, and if we know which direction they have shifted but not how much, why is it that we will be able to predict the direction in which either price or quantity will change, but not both? (Clue: consider the four possible combinations and sketch them if necessary: (a) D left, S left; (b) D right, S right; (c) D left, S right; (d) D right, S left.)

D left, S left: quantity falls, price may rise or fall.


D right, S right: quantity rises, price may rise or fall.


D left, S right: price falls, quantity may rise or fall.


D right, S left: price rises, quantity may rise or fall.

Chapter 1:  Boxes
Box 1.2: Free-market medicine in Russia

1. 
In a market economy would you expect higher prices to lead to lower or higher output?

Higher prices, unless merely the result of higher costs of production, will encourage firms to produce more: the quantity supplied will increase.  If, however, the higher prices were merely part of a general rise in prices and costs (i.e. inflation), then firms would not be encouraged to produce more.

2. 
Would increased competition tend to reduce or increase inequality?

Initially, the exposure of the Russian economy to market forces led to growing inequality.  There were much greater opportunities for some people to make profits, and some grew very rich.  At the other end of the income scale there was much less job security and much greater scope for employers to pay low wages, especially given the larger number of people unemployed.  Over time, however, if competition continues to grow, this will help to prevent firms pushing up prices and making massive profits.  Increased competition may also help to create more jobs and help those at the bottom end of the income scale.  Even so, inequality is likely to remain substantially higher than under communism.

Box 1.3: Getting satisfaction
1.
How will your marginal utility from the consumption of electricity be affected by the number of electrical appliances you own?

For a ‘rational’ consumer will not be affected. The rational consumer would consume electricity up to the point where its marginal utility equalled its price. Since the price of electricity is given, the marginal utility will be the same, irrespective of the number of appliances owned. (With more appliances and hence more electricity consumed, the consumer’s total utility from electricity will be higher.). In practice, people are likely to pay little or no attention to the specific utility gained from the extra electricity used to run an appliance more. A major reason for this is that it is virtually impossible to separate the utility from the electricity from the utility from the appliance itself.

2.
How will your marginal utility from the consumption of butter depend on the amount of margarine you consume?

The more margarine you consume, the lower will be the marginal utility from butter. The reason is that margarine and butter are substitutes. The more you consume of either, the less will be the additional satisfaction of additional units of either. 

3.
If a good were free, what would your marginal utility be from consuming it?


Zero.  As long as your marginal utility were positive, you would consume more. You would only stop when additional units gave you no further satisfaction: i.e. when MU = 0.
Box 1.4: The UK housing market
1.
Draw supply and demand diagrams to illustrate what was happening to house prices (a) in the second half of the 1980s; (b) in the early 1990s.

(a)
Demand was rising rapidly. There was thus a continuing rightward shift in the demand curve for houses and a resulting rise in the equilibrium price.


(b)
Demand was falling. The leftward shift in the demand curve for houses led to a fall in the equilibrium price.

2.
Are there any factors on the supply side that influence house prices?

Yes. Although they are less important than demand-side factors, they are, nevertheless important in determining changes in house prices. The two most important are the expectations of the construction industry. If house building firms are confident that demand will continue to rise, and with it house prices, they are likely to start building more houses. The resulting increase in the supply of houses (after the time taken to build them) will help to dampen the rise in prices.



The other major supply-side factor is speculation by house owners. If people think that prices will rise in the near future and are thinking of selling their house, they are likely to delay selling and wait until prices have risen. This (temporary) reduction in supply will help to push up prices even further.

Box 1.5: The heyday of the auction

1.
What are the advantages of on-line auctions to (a) purchasers; (b) sellers?

(a)
Purchasers gain by having easy access to a wide range of products, which are likely to be at lower prices than in shops, thanks to the competition and lack of costs associated with running retail outlets.


(b)
Sellers gain by being guaranteed a sale at the best possible price, while cutting down on handling costs. It also overcomes the problem of not knowing what is the best price to charge.

2.
In what ways do firms using traditional ‘menu-based’ pricing respond to an increase in demand for their product?


Initially they will probably not raise the price (given the costs of adjusting price lists and labels), but simply draw more from stocks or purchase more from their suppliers. If the increased demand persists, they may then consider raising their price.

Chapter 2
2.
Which of the following will have positive signs and which will have negative ones? (a) price elasticity of demand; (b) income elasticity of demand (normal good); (c) income elasticity of demand (inferior good); (d) cross elasticity of demand (with respect to changes in price of a substitute good); (e) cross elasticity of demand (with respect to changes in price of a complementary good); (f) price elasticity of supply.

(b), (d), (f): positive.


(a), (c), (e): negative.

4.
How might a firm set about making the demand for its brand less elastic?

Designing it and advertising it so that consumers will believe (rightly or wrongly) that there is no close substitute for it.

6.
Why are both the price elasticity of demand and the price elasticity of supply likely to be greater in the long run?

Demand: if the price of a good rises, then, the longer the time period, the longer consumers have time to find alternative products.


Supply: if the price of a good rises, more firms will be attracted into the industry and existing firms will be encouraged to expand. Both of these take time.

8.
Redraw each of Figures 2.10–2.13, only this time assume that it was an initial shift in supply that caused price to change in the first place.

See Diagram 2.1.

10.
Give some examples of decisions you have taken recently that were made under conditions of uncertainty. With hindsight do you think you made the right decisions?

An example would be an item you purchased that you had never consumed before: maybe because you had seen it advertised. You might then subsequently regret the purchase if it does not live up to your expectations. Another example would be a part-time job. Only when you have started doing the job do you find out how onerous it is to do.
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Diagram 2.1  Speculation:  initial shift in the supply curve

12.
Think of two things that are provided free. In each case, identify when and in what form a shortage might occur. In what ways are/could these shortages be dealt with? Are they the best solution to the shortages?

The state provides various goods and services free at the point of use (albeit at a cost to the taxpayer). Two examples are:


(i) Books for loan in public libraries



Popular books – novels, or frequently used textbooks or other non-fiction, such as holiday guides – are often unavailable when individuals want to borrow them. The shortages are dealt with by rationing. This takes two forms. First, there is a loan period (which for popular titles, or items such as CDs, might be a shorter period). People are rationed in terms of the time they can keep the book. Second, there are waiting lists. You can reserve a book, thereby preventing a person who has borrowed the book from renewing it. Fines are the incentive to get people to abide by the rules.




Many people would argue that a better solution to the shortage of books would be to allocate more state or local funds to increasing the stock of library books. This would, of course, mean diverting funds from elsewhere (e.g. health or education), or raising taxes or finding ways to make efficiency savings, either within the library service or within the public sector generally.


(ii) Health care from general practitioners



People may have to wait to see their doctor. Rationing takes place though this process of waiting: either people have to wait in the doctor’s surgery or are not given an immediate appointment. Because people have to wait, this reduces the number of people seeing their doctor, either because they are better by the time that their appointment is due, or because they would rather suffer the symptoms than have to wait. The shortage could alternatively be dealt with by increasing the number of doctors (in which case the benefits from more immediate treatment would have to weighed against the extra cost to the taxpayer), or by charging for people to visit their doctor. This latter solution, however, would be hard for poor people, and might discourage people from getting treatment (which in turn could lead to the spread of infectious diseases).

Chapter 2  Boxes
Box 2.1: Shall we put up our price?
1.
Why may a restaurant charge very high prices for wine and bottled water and yet quite reasonable prices for food?

Because the demand for food is relatively elastic: people may well compare restaurant food prices when deciding where to eat. The demand for drinks in restaurants, however, is likely to be relatively inelastic. People’s decision where to eat is unlikely to be influenced by drink prices. Then, once people are eating in a restaurant, there is no alternative supply of drinks to the restaurant’s own. People either have to pay the high prices or go without.

2.
Why are clothes with designer labels so much more expensive than ‘own brand’ clothes from a chain store, even though they may cost a similar amount to produce?

Because fashion is an important determinant of demand. The more fashionable a product, the higher will be the demand, and the less elastic will be the demand, at any given price. Thus it is profitable for shops to charge higher prices for fashion products than for own brand products.

Box 2.3: Advertising and its effect on the demand curve
1.
Think of some advertisements which deliberately seek to make demand less elastic.


Those that strongly promote a brand, so that in the consumer’s mind there is no close substitute.

2.
Imagine that ‘Sunshine’ sunflower margarine, a well-known brand, is advertised with the slogan, ‘It helps you live longer’.  What do you think would happen to the demand curve for a supermarket’s own brand of sunflower margarine?  Consider both the direction of shift and the effect on elasticity.  Will the elasticity differ markedly at different prices?  How will this affect the pricing policy and sales of the supermarket’s own brand?

It depends on the extent to which the consumer is led to believe that sunflower margarines generally help you to live longer, in which case the demand for the supermarket’s brand is likely to shift to the right and become less elastic as consumers are less prepared to switch to non-sunflower margarines. If, however, the consumer was led to believe that it was specifically ‘Sunshine’ margarine that made you live longer, then the demand for the supermarket’s brand (and all others) will shift to the left.

Box 2.4: Agriculture and minimum prices
One of the reforms to the CAP has been to reduce intervention prices and to compensate farmers for the resulting lost income by paying them grants (‘income support’) unrelated to current output. What, do you think, are the merits of this reform?
By making the grants unrelated to output, they provide no incentive for farmers to increase output, since farmers would not get a bigger subsidy if they did. If income support were completely to replace the system of intervention prices set above market prices, there would be no surpluses at all. The market would clear. As it is, the partial switch from price support to income support has helped to reduce surpluses, and thus the costs of storing them.

Box 2.5: Rent control

1. 
How could housing supplied by the public sector be made to rectify some of the problems we have identified above?  (What would it do to the supply curve?)


It would shift the supply of rental accommodation to the right, and thereby reduce the free-market rent; or it would reduce the shortage of accommodation in the case where rents are fixed below the equilibrium.

2. 
If the government gives poor people rent allowances (i.e. grants), how will this affect the level of rents in an uncontrolled market? What determines the size of the effect?


They will increase (the demand for rented accommodation will increase). The size of the increase will depend on the size of the grants and the number of people receiving them and on the price elasticity of supply of rental accommodation. The bigger the grants and the less elastic the supply, the bigger will be rise in the equilibrium rent.

3. 
The case for and against rent controls depends to a large extent on the long-run elasticity of supply.  Do you think it will be relatively elastic or inelastic?  Give reasons.


Relatively elastic.  Below a certain rent, it will not be worth the owners incurring the costs and time of renting out the accommodation.  The solution, therefore, to cheap affordable accommodation is to tackle the supply directly: either by public housing or by subsidising or giving tax relief to the private sector.
Chapter 3
2.
Given that there is a fixed supply of land in the world, what implications can you draw from the law of diminishing returns about the effects of an increase in world population for food output per head?

Other things being equal, diminishing returns would cause food output per head to decline. This, however, would be offset (partly, completely or more than completely) by improvements in agricultural technology and by increased amounts of capital devoted to agriculture.

4.
What economies of scale is a large department store likely to experience?

Specialised staff for each department (saving on training costs and providing a more efficient service for customers); being able to reallocate space as demand shifts from one product to another and thereby reducing the overall amount of space required; full use of large delivery lorries which would be able to carry a range of different products; bulk purchasing discounts; reduced administrative overheads as a proportion of total costs.

6.
Name some industries where external economies of scale are gained. What are the specific external economies in each case?

Two examples are: 

· Financial services: pool of qualified and experienced labour, access to specialist software, one firm providing specialist services to another.

· Various parts of the engineering industry: pool of qualified and experienced labour, access to specialist suppliers, possible joint research, specialised banking services.

8.
Under what circumstances is a firm likely to experience a flat-bottomed LRAC curve?

When its economies of scale are all exhausted before any diseconomies of scale set in. For many firms, this may be over a large range of output.

10.
Copy Figures 3.9 and 3.10 (which are based on Table 3.5). Now assume that incomes have risen and that, as a result, two more units per time period can be sold at each price. Draw a new table and plot the resulting new AR, MR and TR curves on your diagrams. Are the new curves parallel to the old ones? Explain.

The table will now be as follows:

Q

(units)
P = AR

(£)
TR

(£)
MR

(£)

3

4

5

6

7

8

9
8

7

6

5

4

3

2
24

28

30

30

28

24

18
4

2

0

(2   

(4   

(6   


The new AR curve will be 2 units to the right of the old one (and parallel to it).



The new MR curve will be 1 unit to the right of the old one (and parallel to it).



The new TR curve will be £2 higher than the old TR curve for each unit of sales. Thus at a level of sales of 4 units, it is 4 ( £2 = £8 above the old curve (i.e. £28 as opposed to £20). The TR curve has thus not shifted upwards parallel to the old curve, but has become steeper with the peak now at Q = 5.5 as opposed to Q = 4.5 previously.

12.
From the information given in the following table, construct a table like Table 3.7.
Q
0
1
2
3
4
5
6
7

P

TC
12

2
11

6
10

9
9

12
8

16
7

21
6

28
5

38


Use your table to draw diagrams like Figures 3.11 and 3.13. Use these two diagrams to show the profit-maximising output and the level of maximum profit. Confirm your findings by reference to the table you have constructed.
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The curves will be a similar shape to those in Figures 3.11 and 3.13. The peak of the T( curve will be at Q = 4. This will be the output where MR and MC intersect. 

14.
What determines the size of normal profit? Will it vary with the general state of the economy?

Normal profit is the rate of profit that can be earned elsewhere (in industries involving a similar level of risk).



When the economy is booming, profits will normally be higher than when the economy is in recession. Thus the ‘normal’ profit that must be earned in any one industry must be higher to prevent capital being attracted to other industries.

16.
The price of pocket calculators and digital watches fell significantly in the years after they were first introduced and at the same time demand for them increased substantially. Use cost and revenue diagrams to illustrate these events. Explain the reasoning behind the diagram(s) you have drawn.

The costs of producing them fell significantly as technology rapidly improved. The (short-run) cost curves shifted downwards. These downward shifts were great enough more than to offset the rightward shift in the demand (AR) and MR curves. Thus the profit-maximising price fell. At the same time, increased competition made the demand curves more elastic. This too put downward pressure on price. We explore the effect of competition on price in the next chapter.

18.
In February 2000, Unilever, the giant consumer products company, announced that it was to cut 25 000 jobs, close 100 plants and rely more on the Internet to purchase its supplies. It would use part of the money saved to increase promotion of its leading brands, such as Dove skincare products, Lipton tea, Omo detergents and Calvin Klein cosmetics. The hope was to boost sales and increase profits. If it meets these targets, what is likely to have happened to its total costs, total revenue, average costs and average revenue? Give reasons for your answer.

If the result was a boost in sales as expected, then total revenue would increase (unless prices were cut and demand was inelastic). Total costs would probably fall, given the money saved from closing plants and cutting jobs. The size of the reduction in total costs would depend on how much of the savings were diverted into increased promotion of the leading brands, and just how much sales increased (if the increase were big enough, this could lead to increased total costs).



Average costs would fall, given the probable reduction in total cost and the increased sales. Average fixed costs would, nevertheless, probably rise, given the extra expenditure on product promotion. Average revenue would depend on the pricing policy pursued by the company.  With a downward shift in AC and MC, it is likely that the company will charge lower prices for its products. This, however, may be offset by the rightward shifts in demand curves caused by increased advertising. The net result could be a lower or a higher price and hence AR.
Chapter 3  Boxes
Box 3.1: Diminishing returns in the bread shop
How would you advise the baker as to whether he should (a) employ four assistants on a Saturday; (b) extend his shop, thereby allowing more customers to be served on a Saturday morning?
(a)
If maximising profit is the sole aim, then he should employ a fourth assistant, if the extra revenue from the extra customers that this assistant can serve is greater than the costs of employing the assistant.

(b)
He should only do this if the extra revenue from the extra customers will more than cover the costs of the extension plus the extra staffing.

Box 3.2: Malthus and the dismal science of economics

The figures in the following table are based on the assumption that birth rates will fall faster than death rates.  Under what circumstances might these forecasts underestimate the rate of growth of world population?

A faster decline in the death rate as a result of new advances in medicine allowing people to live longer;  a slower growth in living standards in developing countries causing people to continue choosing to have large families so that they will have offspring to look after them in their old age.

Box 3.3: The relationship between averages and marginals
A cricketer scores the following number of runs in five successive innings:


Innings:    1    2    3    4   5


Runs:     20  20  50  10   0

These can be seen as the marginal number of runs from each innings.  Calculate the total and average number of runs after each innings.  Show how the average and marginal scores illustrate the three rules above?
See the following table:

Innings
Total runs
Average runs

1

2

3

4

5
  20

  40

  90

100

100
20

20

30

25

20

When the marginal is above the average (e.g. the third innings), the average rises. When the marginal is below the average (e.g. the fourth innings) the average falls. When the marginal is the same as the average (e.g. the second innings) the average stays the same.

Box 3.4: Minimum efficient scale
1.
Why might a firm operating with one plant achieve MEPS and yet not be large enough to achieve MES? (Clue: are all economies of scale achieved at plant level?

There may be economies of scale to be gained that do not relate to plant size but rather to the size of the organisation: for instance, marketing economies of scale and research and development economies of scale. Despite operating with a minimum cost plant, the firm may still not be large enough to achieve these other economies.

2.
Why might a firm producing bricks have an MES which is only 0.2 per cent of total EU production and yet face little effective competition from other EU countries?

Because bricks, being heavy and having relatively low value, are costly to transport. The effective market for bricks, therefore is a relatively local one.
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2.
If the industry under perfect competition faces a downward-sloping demand curve, why does an individual firm face a horizontal demand curve?

Because the firm’s output makes such an infinitesimally small contribution to total industry output. The firm cannot affect industry price by changing its output. In other words, any change in an individual firm’s output would cause such a minute movement along the industry demand curve, that price would not change.

4.
If supernormal profits are competed away under perfect competition, why will firms have an incentive to become more efficient?

Because if they did not do so, and other firms did, firms would still enter the industry and compete price down. The firms that had not become more efficient would then find themselves making less than normal profit. They would then either have to become more efficient pretty quickly, or go out of business.

6.
As an illustration of the difficulty in identifying monopolies, try and decide which of the following are monopolies: British Telecom; your local evening newspaper; a water company; the village post office; the Royal Mail; Interflora; the London Underground; ice-creams in the cinema; Guinness; food sold in a train buffet car; Tipp-Ex; the board game ‘Monopoly’.

In each case it depends on how narrowly you define the market. For example, your local evening newspaper may have a monopoly over local printed evening news, but the local radio or television station is another source of local evening news. It may have a monopoly over certain types of advertisement, but various local trade papers may be an alternative source of other types.

8.
For what reasons would you expect a monopoly to charge (a) a higher price, and (b) a lower price than if the industry were operating under perfect competition?

(a)
As Figure 4.6 in the text illustrates (see page 132), the effect of a monopoly producing an output where MC = MR results in a higher price and output than under perfect competition. Even if it operates with lower marginal costs than a firm under perfect competition (as a result of economies of scale or more efficient processes), although this will have the effect of reducing prices somewhat, the price will still be higher than under perfect competition unless marginal costs are substantially lower.


(b)
Where the marginal costs are substantially lower, so that they have the effect of pulling the price below that under perfect competition. In Figure 4.6 in the text, this would only occur if the monopolist’s MC curve intersected the MR curve to the right of Q2.

10.
Think of three examples of monopolies (local or national) and consider how contestable their markets are.

Three examples might include:

· A university refectory: unless the catering is offered on a franchise basis to outside caterers, or, say, to the student’s union, the monopoly will not be contestable. There may, nevertheless, be competition from local restaurants, cafés and food shops.

· Bus company operating a particular route: the market may be large enough for only one company, but the market is highly contestable, especially if other bus companies are already established on other routes in the area.

· Local water company: the market is not contestable, because the entry and exit costs would be extremely high. It would be possible through regulation, however, to force local water companies to grant use of their pipelines to other companies provided the various pipe networks are linked between one area and another.

12.
Assume that a monopolistically competitive industry is in long-run equilibrium. On a diagram like Figure 4.7, show the effect of a fall in demand on a firm’s price and profit in (i) the short-run and (ii) the long run.
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1Diagram 4.1  A firm under monopolistic competition


See Diagram 4.1. In long-run equilibrium the firm will be making normal profit, with its average revenue curve (AR1) tangential to the LRAC curve.


(i)
 If there is now a fall in demand, shown by AR2, the ‘profit-maximising’ output will fall to Q2, where MC = MR2.  This will, in fact be a loss-minimising position, with the loss shown by the area abcd (assuming that AC = LRAC).


(ii)
In the long run, firms will leave the industry, and, if this firm manages to survive, it will find that its demand curve (AR) shifts back to the right.  Once the demand curve has become tangential to the LRAC curve again, the firm will once more be making normal.  Firms will stop leaving the industry and long-run equilibrium will have been restored.

14.
Why may a food shop charge higher prices than supermarkets for ‘essential items’ and yet very similar prices for delicatessen items?

Because the demand for such essential items from a local food shop is likely to be less price elastic than the demand for delicatessen items: if people run out of basic items, they will want to obtain them straight away rather than waiting until they visit the supermarket. Also the supermarkets may obtain bulk discount from their suppliers on basic items, but not on delicatessen items, where the turnover is much lower.

16.
Will competition between oligopolists always reduce total industry profits?

Competition between oligopolists will reduce industry profits to the extent that price is forced below the industry profit-maximising level, or to the extent that costs are driven up by increased expenditure on advertising and marketing. It is possible, however, that the competition could lead to the development of new products and improved quality, which over the longer term could lead to a shift in the right of the industry demand curve. This could offset the first two effects and lead to larger industry profits.

18.
Devise a box diagram like that in Table 4.2 (on page 153), only this time assume that there are three firms each considering the two strategies of keeping price the same or reducing it by a set amount. Is the game still a ‘dominant strategy game’?

The example given below illustrates that it is likely that the game will remain a dominant strategy game. In this example, each of three firms (A, B and C) is considering lowering its price from £2 to £1.80. The cells show the various combinations of prices and their effects on profits for the three firms. Each firm, whether following a maximax or a maximin strategy, will choose to lower its price. When they all do so, however, the result is that they will be worse off than if they had all kept their price at £2.


Dominant strategy game for three firms
PRIVATE 

B £2

C £2
B £1.80

C £2
B £2

C £1.80
B £1.80

C £1.80

A £2
A £10m

B £10m

C £10m
A £5

B £15m

C £5m
A £5m

B £5m

C £15m
A £3m

B £8m

C £8m

A £1.80
A £15m

B £5m

C £5m
A £8m

B £8m

C £3m
A £8m

B £3m

C £8m
A £6m

B £6m

C £6m

20.
If a cinema could sell all its seats to adults in the evenings at the end of the week, but only a few on Mondays and Tuesdays, what price discrimination policy would you recommend to the cinema in order for it to maximise its weekly revenue?

Offer reduced-price tickets to children, students, the unemployed and the elderly in the evenings for the first part of the week, but not for the end of the week. Possibly also offer reduced-price tickets at the beginning of the week to everyone.
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Box 4.1: E-commerce

1.
Why may the Internet work better for replacement buys than for new purchases?

With replacement buys, the consumer knows the product and can use the Internet to obtain them more cheaply. With first-time purchases purchased over the Internet, there is more risk that. It is not possible to see the items and possibly handle them, as would be the case in a shop.  Returning goods that turn out not to be as expected may be time consuming.

2.
Give three examples of products that are particularly suitable for selling over the Internet and three that are not. Explain your answer.

Particularly suitable: (i) tickets (coach, airline, concert, etc.); (ii) certain financial services, where the consumer understands the product; (iii) rare items that would otherwise require the consumer to travel a long distance to obtain them. In each of these cases, suppliers are likely to be in competition over the Internet, and hence help to drive the price lower. Having the items sent by post, or in the case of various financial services recorded electronically, saves the consumer time.


Not particularly suitable: (i) clothes; (ii) furniture; (iii) perishable foodstuffs. In each of these cases, consumers would probably rather choose their products from a shop, where they can inspect the items. In the case of clothes and perishable foodstuffs, there are clearly benefits of bringing the item home immediately from the shop rather than having to wait for it to be delivered.
Box 4.2: Competition in the pipeline

1.
What possible advantages to the consumer could there be in (a) TransCo having a monopoly over gas pipelines; (b) BGT remaining a monopoly in the supply of gas to domestic households?

(a)
(i) It avoids the duplication and hence increased costs if there were parallel pipelines owned by other companies; (ii) there are economies of scale in having a centralised control and distribution system.


(b)
Very few advantages. Two possible advantages are: (i) competition could lead to a decline in safety standards unless tightly monitored by the authorities; (ii) people in remote areas might find their costs of gas installation increased (but you could argue that people ought to pay higher prices anyway in such areas to reflect the higher costs of supply).

2.
How would suppliers react if TransCo charged a very high price for providing gas on a last resort basis?

They would be concerned to forecast accurately the demand from their customers, and have access to sufficient supplies themselves so as to avoid having to pay TransCo’s high price. They would attempt to weigh up the extra costs of doing this against the prices they would have to pay to TransCo. Sometimes it may be worth paying TransCo’s high price, rather than having to rely on their own, possibly costly, contingency plans (in a severe cold spell, for example).

Box 4.3: Windows cleaning

1.
In what respects might Microsoft’s behaviour be deemed to have been: (a) against the public interest; (b) in the public interest?


(a)
Prices are likely to be higher, given the lack of competition;  there may be less product development, because potential competitors fear Microsoft’s power to block their entry to the market, or drive them from it if they do succeed in entering;  less choice for consumers.


(b)
By developing products that are in general use round the world, it is more convenient for businesses and their employees, who do not have to learn different sets of programmes or have problems with incompatibility of programmes;  monopoly profits can lead to high levels of investment and product development, which can help to reduce prices over the longer term.

2.
In December 1998, America Online (AOL) announced it was to acquire Netscape Communications, and to form an alliance with Sun Microsystems. The state of South Carolina subsequently dropped its anti-trust suit against Microsoft, stating that ‘the forces of competition are working’.  Bill Gates remarked on hearing news of the merger, ‘It's hard to believe that the Government can still press their case with a straight face. Three of the biggest competitors are banking together and yet the Government is still trying to slow us down.’ Should the AOL–Netscape merger alter attitudes towards the recent business practices of Microsoft?


To the extent that these other companies can use their joint market power to compete with Microsoft, then it is probably in the consumer’s interests.  But these competitors will not provide competition across the range of Microsoft’s products.  In the case of the Windows operating system and Microsoft Office products, Microsoft has the advantage of an established network of users, and this gives Microsoft a huge market advantage.

3.
The problem with being locked-in to a product or technology is only a problem if such a product can be clearly shown to be inferior to an alternative. What difficulties might there be in establishing such as case?


If potential competitors have been prevented from developing superior products or technology, then those products or technology are not available to be compared with the existing products or technology!  You are trying to compare an existing situation with a hypothetical one.  Even if the competitors do have a product on the market, its inferiority may be a practical one rather than an intrinsic one  – namely that it is incompatible with the market leader’s products or technology.
Box 4.4: OPEC – the rise and fall and rise again of a cartel
1.
What conditions facilitate the formation of a cartel? Which of these conditions were to be found in the oil market in (a) the early 1970s; (b) the mid 1980s; (c) 2000?
· For the conditions that facilitate the formation of a cartel, see the list of factors favouring collusion on pages 150–1. Taking the points in order as they appear on pages 150:

· There are relatively few oil producing countries: but more in the 1980s than there were in the 1970s.

· The OPEC members meet openly to discuss pricing and quotas (in all three periods).

· Production methods are relatively similar, although costs vary according to the accessibility of the oil.

· The (final) product is very similar and there is an international price for each type of crude.

· Saudi Arabia is the dominant member of OPEC: its dominance over the world market, however, waned from the mid-1980s as non-OPEC production increased and there was a world glut of oil. With a growing world economy in the late 1990s, Saudi Arabia’s influence grew again.

· Entry barriers, however, have not been significant.  This has allowed several non-OPEC members (e.g. Mexico, Norway and the UK) to break into the market.

· The market is relatively stable in the short run (given the price and income inelasticity of demand).  There has been a problem, however, of a decline in demand over the longer term.

· Governments round the world have been relatively powerless to curb OPEC’s collusion, although from time to time (e.g. during the Gulf War) the USA has released oil from its huge stock piles to prevent excessive price increases.

2.
Is there anything OPEC could have done to prevent the long-term decline in real oil prices after 1981?

Very little, given that the supply of substitutes (both oil and non-oil) for OPEC oil have increased substantially. Perhaps, with hindsight, if OPEC had not raised prices so much in 1973/74 and 1979 there would have been less incentive to develop substitutes and to break the power of the cartel.

3.
Many oil analysts are predicting a rapid decline in world oil output in 10 to 20 years as world reserves are depleted.  What effect is this likely to have on OPEC’s behaviour?

The fall in output will drive up prices.  Provided that OPEC can prevent its members from pumping oil more rapidly to take advantage of the rising price, OPEC’s power could increase.  It could demonstrate to its members the rising trend in oil prices and attempt to persuade them of the benefit of reducing production even further.  It could ‘sell’ this policy to the world as one of being prudent with dwindling oil stocks.

Box 4.5: Is beer becoming more concentrated?
1.
 What are the barriers to entry in (a) brewing; (b) opening new pubs?


(a)
Costs of plant for producing on a large scale; brand loyalty; advertising by the established firms; difficulty in finding outlets for the beer, given that most pubs are tied to a brewery and are required to sell only one ‘guest’ beer; ‘pressure’ from large breweries on pubs to stock their guest beers.



(b)
Market is already saturated in most areas; high cost of purchasing premises and fitting them out; fear of ‘unfair’ competition from existing pubs, most of which are tied to the large breweries.

2. 
Do small independent brewers have any market advantages?


Yes.  Beer, being heavy and bulky relative to value, is quite expensive to transport.  Local brewers, by being near to their outlets are likely to have lower transport costs.  On the demand side, there is often considerable loyalty for local ales.

Box 4.6: Rip-off Britain
1.
Identify the main barriers to entry in the supermarket and banking sectors.

Supermarkets: difficult for new-comers to access cheap sources of supply; fear of price wars (which are often local, against a specific shop); fear of takeover; difficulty in obtaining planning permission; various economies of scale of the established giants.


Banks:  control by banks over cheque clearing, money transmission and cash machines; economies of scale; customers unwilling to make the effort to change accounts; threat of takeover.

2.
In what forms of tacit collusion are firms in the three industries likely to engage?


Only competing in price over a relatively small number of  items; only charging low prices where there is a local competitor; not rapidly passing on cost reductions to the consumer; price matching, rather than price under-cutting.

Box 4.7: The prisoners’ dilemma
1.
How would Nigel’s choice of strategy be affected if he had instead been involved in a joint crime with Jeremy, Pauline, Diana and Dave, and they had all been caught?

The more people there were involved in the crime, the greater would be the likelihood of one of them confessing and therefore the greater the temptation for Nigel to confess.

2.
Can you think of any other non-economic examples of the prisoners’ dilemma?

Children in a class previously agreeing not to do homework for a test, but parents keeping them apart so that they can persuade their children to do their homework, telling them,  ‘The other children will also be doing theirs and you will not want to be shown up by doing badly compared with them.’

Box 4.8: Profit-maximising prices and output
Why is the higher price charged in the market with the less elastic demand curve?
Because the MR must be the same in both markets (see the figure on page 160), and in the market with the less elastic demand curve, the gap between MR and AR (and hence price) is greater, and hence price must be higher.
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2.
For what types of reason does the marginal revenue product differ between workers in different jobs?
· The productivity of workers differs. Reasons include: differences in ability, qualifications and motivation.

· Workers differ in the amount of other factors of production with which they are working. Clearly a person working with modern machinery will be much more productive than one working with little or no equipment.

· The price of the good that is being produced. The higher its price, the greater will be the value of the worker’s output.

4.
The wage rate a firm has to pay and the output it can produce varies with the number of workers as follows (all figures are hourly):

Number of workers
1
2
3
4
5
6
7
8

Wage rate (ACL) (£)

Total output (TPPL)
3

10
4

22
5

32
6

40
7

46
8

50
9

52
10

52


Assume that output sells at £2 per unit.


(a)
Copy the table and add additional rows for TCL, MCL, TRPL and MRPL. Put the figures for MCL and MRPL in the spaces between the columns.


(b)
How many workers will the firm employ in order to maximise profits?


(c)
What will be its hourly wage bill at this level of employment?


(d)
How much hourly revenue will it earn at this level of employment?


(e)
Assuming that the firm faces other (fixed) costs of £30 per hour, how much hourly profit will it make?


(f)
Assume that the workers now formed a union and that the firm agreed to pay the negotiated wage rate to all employees. What is the maximum to which the hourly wage rate could rise without causing the firm to try to reduce employment below that in (b) above? (See Figure in Box 5.1.)


(g)
What would be the firm’s hourly profit now?

(a)
See the following table:
Number of workers
1
2
3
4
5
6
7
8

ACL (£)

TCL (£)

MCL (£)

TPPL (units)

TRPL (£)

MRPL (£)
3

3

10

20
4

8

5

22

44

24
5

15

7

32

64

20
6

24

9

40

80

16
7

35

11

46

92

12
8

48

13

50

100

8
9

63

15

52

104

4
10

80

17

52

104

0


(b)
5 workers.  Employing a fifth worker adds £12 to the firm’s total revenue (MRPL = £12), but only £11 to total cost (MCL = £11). It is thus profitable for the firm to employ the fifth worker.  Employing a sixth worker, however, is not profitable.  The sixth worker would add £13 to costs but only £8 to revenue.


(c)
£35


(d)
£92


(e)
Total cost will be £35 + £30 = £65.  The firm thus makes an hourly profit of £92 – £65 = £27.


(f)
A fraction under £12 (= MRPL at the profit-maximising employment).  So long as additional workers add at least £12 to the firm’s revenue – as they do up to 5 workers – they will be profitable to employ.  At a wage rate fractionally below £12, if the firm were to reduce employment below 5 workers, it would lose more in revenue than it would save in wages.


(g)
Total cost is fractionally under £90 (i.e. £30 fixed costs plus fractionally under £60 in wage costs).  Total revenue is still £92.  The firm thus makes a total hourly profit of just over £2.

6.
To what extent can trade unions be seen to be (a) an advantage, (b) a disadvantage to (i) workers in unions, (ii) employers bargaining with unions, (iii) non-union members in firms where there is collective bargaining, (iv) workers in non-unionised jobs?


(i)
They will tend to secure higher wage rates and better conditions, but they might cause lower employment in the long run if they try to push wage rates too high.



(ii)
They may act as a useful forum in which firms can discuss matters with their workforce; they help in bringing about things that can benefit both the firm and the workers (such as the introduction of new work practices). On the other hand, given that unions are trying to gain higher wage rates and shorter hours, this could be at the expense of profits.



(iii)
Non-union members may well get a ‘free-ride’ from the union: i.e. getting the higher wage rates (that the union gained through collective bargaining) without paying union subscriptions. To the extent, however, that higher negotiated wage rates cause a reduction in the workforce, non-union members could well lose their jobs.



(iv)
The direct effect will be small. Unions may put pressure on governments to pass legislation that benefits workers generally. On the other hand, pressure from the union movement for higher wages may cause higher inflation and higher unemployment, which will be to the detriment of all workers.

8.
Do any of the following contradict marginal productivity theory: (a) wage scales related to length of service (incremental scales), (b) nationally negotiated wage rates, (c) discrimination, (d) firms taking the lead from other firms in determining this year’s pay rise?

Even if marginal productivity theory were not relevant in these cases, the theory would still be accurate in the sense that if firms wanted to maximise profits then they should employ workers to the point where MCL = MRPL.



But does the theory apply in the above four cases?


(a)
Yes it could.  A system of incremental scales may be consistent with a profit-maximisation strategy. The employer can pay less to new recruits and yet still attract them to the firm because of the prospects of higher pay in the years to come. The firm can go on recruiting new staff to the point where their MRP was equal to their addition to costs (based on the agreed scale).


(b)
Yes it could.  Firms may find it convenient (in terms of the costs of negotiating and the avoidance of disputes) to pay nationally agreed wage rates. They then could employ workers up to the point where their MRP was equal to this wage rate (which, given that the firm was a ‘wage taker’ would be equal to the MCL).


(c)
No.  Discrimination would lead to firms employing those workers against whom they were discriminating below the level where their MRP was equal to their MCL.


(d)
Yes it could.  (See answer to (b) above)

10.
Does the existence of overtime tend to increase or decrease inequality?


If inequality is measured purely in terms of the distribution of income, then overtime will increase the take-home pay of those doing it (albeit at a sacrifice to them in terms of lost leisure), and thus reduce the gap between them and those on higher incomes and open the gap between them and those on lower incomes. Since those doing overtime are mainly those on low to middle incomes, it will tend to reduce inequality. However, men on average do more overtime than women, and since men on average earn more than women, the existence of overtime will tend to increase income inequality between men and women.

12.
If a person earning £5000 per year pays £500 in a given tax and a person earning £10 000 per year pays £800, is the tax progressive or regressive?


Regressive.  The person with the higher income pays a lower average rate of tax (8 per cent rather than 10 per cent).

14.
Under what circumstances would a rise in income tax act as (i) a disincentive and (ii) an incentive to effort?

A rise in income tax has an income and a substitution effect. Higher taxes reduce people’s incomes: this is the income effect. Being poorer they have to work more to make up for some of their lost income. The income effect, therefore, makes income tax increases an incentive to work more. Higher taxes, however, also mean that work is worth less than before, and therefore people might well substitute leisure for work: there is no point in working so much if you bring home less. This is the substitution effect, and makes income tax increases a disincentive.


(i)
If the substitution effect is bigger than the income effect, then a rise in income tax will act as a net disincentive to work. As is shown on pages 306–7, this is likely for those people with few commitments and for second income earners in families where the second income is not relied on for ‘essential consumption’. It is also likely for those who are only currently paying a small amount of tax, and for whom, therefore, the income effect is likely to be small; and also for those just in a higher tax bracket when that higher tax rate is raised.


(ii)
If the income effect is bigger than the substitution effect, a rise in tax will act as a net incentive. This is most likely for those currently paying a large amount of tax and who would suddenly be faced with a substantial increase in their tax bill. It is also likely if the tax increase takes the form of a cut in tax allowances. Except for those having to pay tax for the first time, or those pushed into a higher tax band, cutting allowances has no substitution effect since it does do not alter the marginal rate.

16.
What tax changes (whether up or down) will have both a positive incentive effect and also redistribute incomes more equally?
· Reducing the marginal tax rate for those on low incomes.

· Reducing the threshold at which higher rates of tax start.

18.
How would you go about deciding whether person A or person B gets more personal benefit from each of the following: (a) an electric fire; (b) a clothing allowance of £x; (c) draught-proofing materials; (c) child benefit? Do your answers help you in deciding how best to allocate benefits?

You would have to have information about their personal circumstances (e.g. their current income, the size of the rooms in which they live, the state of repair of their accommodation). This could be obtained from questionnaire information, interviews, home visits, etc. These investigations may provide some guide as to the different needs of different people, but the problem with all these forms of means testing are that they are personally intrusive, provide incomplete information and may miss people who require help.

Chapter 5  Boxes
Box 5.1: Wages under bilateral monopoly
1.
If the negotiated wage rate were somewhere between W1 and W2, what would happen to employment?

It would increase.  It would be at the level where the horizontal line from the negotiated wage crossed the MRPL curve, which would be to the right of Q1.

2.
What in practice will determine just how much the agreed wage rate is above W1?

The actual wage rate will depend on the process of collective bargaining and the relative power, determination and bargaining skills of each side.

Box 5.2: Flexible labour markets
1.
Is a flexible firm more likely or less likely to employ workers up to the point where their MRP = MCL?

More likely. By being able to switch workers from task to task and, by the use of temporary workers, being able to vary the amount of labour employed, the firm can more easily employ the profit-maximising number of workers in each category.

2.
How is the advent of flexible firms likely to alter the gender balance of employment and unemployment?

Given that a higher proportion of women than men seek part-time employment and are prepared to accept temporary contracts, it is likely to increase the employment of women relative to men.

3.
What are the dangers of adopting a ‘just-in-time’ approach to managing production?

Unless very carefully managed and unless suppliers can be relied upon, there is the danger that supplies will not be available on time, or that a stage in production is not completed on time. Unforeseen circumstances can always cause hold ups, and carrying stocks and allowing slack to be built in (i.e. the opposite of just-in-time) is a way of coping with these problems.

Box 5.3: Equal pay for equal work?
1.
If we were to look at weekly rather than hourly pay and included the effects of overtime, what do you think would happen to the pay differentials in Table (a)?

They would widen.  A higher percentage of women than men work part time and a lower percentage do overtime work. Thus women, on average, do less hours of paid employment per week than men.

2.
In Table (b), which of the occupations have a largely female workforce?

Many of the lower-paid occupations, such as sales assistants and checkout operators, and packers, bottlers, canners and fillers. There are exceptions, however, such as nurses (although, of course, nurses are relatively poorly paid compared with other occupations with a similar amount of training).

3.
If employers were forced to give genuinely equal pay for equal work, how would this affect the employment of women and men?  What would determine the magnitude of these effects?

The wages of women would rise relative to those of men.  This would lead to firms employing relatively more men and fewer women, since there would no longer be any savings in wages for firms by employing women.  The effects could be lessened (but not eliminated) if there was accompanying legislation that ensured the enforcement of equal opportunities.



The magnitude of these effects on employment would be greater: (a) the more that relative wages changed (the effects may be relatively small if the main cause of the differentials was that women were doing the types of jobs that were low paid, in which case differences between average male and female earnings would remain); (b) the more easily firms could substitute men for women (e.g. the higher the level of unemployment of men); (c) the more easily firms could replace female workers by machines.
4.
What measures could a government introduce to increase the number of women getting higher paid jobs?

Examples include: improving educational opportunities for girls and women (e.g. by increasing Access provision to higher education for mature students); improving state provision of child care and nurseries; legislation to encourage or enforce the provision of work-based crèche facilities; tougher equal opportunities legislation; operating positive discrimination (or at least insisting on genuine equal opportunities) in government jobs.

Box 5.4: Minimum wage legislation
1.
If an increase in wage rates for the low paid led to their being more motivated, how would this affect the marginal revenue product and the demand for such workers? What implications does your answer have for the effect on employment in such cases?

Their MRP would increase and hence the demand for them would increase. Thus it is possible that minimum wage rates could lead to an increase in employment (or at least no decrease).

2.
If minimum wages encourage employers to substitute machines for workers, will this necessarily lead to higher long-term unemployment in (a) that industry and (b) the economy in general?

(a)
No.  It may encourage the firm to invest more in the latest technology, which in the long run may give it a competitive advantage over its rivals and therefore gain a larger share of the market. Thus reducing the number of workers per unit of output may be more than compensated for by a greater number of units sold.


(b)
No.  If the government were to invest more in training, thereby increasing the marginal revenue product of workers, firms would find it profitable to employ workers at a higher rate of pay. Also, if firms invest more in modern technology, this could give a boost to the economy, leading to a growth in output and firms in general taking on more labour.

Box 5.5: Working families tax credit
1.
Economists sometimes refer to an ‘unemployment trap’. People are discouraged from taking work in the first place. Explain how such a ‘trap’ arises. Does the working families tax credit create an unemployment trap? What are the best ways of eliminating, or at least reducing, the unemployment trap?


An unemployment trap occurs where workers are discouraged from taking (low-paid) employment because the wages they would gain from such jobs would be wholly or substantially offset by the unemployment benefits they would lose. The working families tax credit helps to reduce the unemployment trap by allowing people who take work to retain some benefit. This reduction in the unemployment trap is somewhat offset, however, by a second person in the family being discouraged from taking a job, because of the WTFC they would lose (at a rate of 55p for every £1 earned).



The unemployment trap is best eliminated, or at least reduced, by tapering off lost benefits more slowly.  Such a system, however, would cost more to provide, or would provide less to the very poor and more to the slightly less poor.

Chapter 6
2.
In Figure 6.1 (page 208) the MSC curve is drawn parallel to the MC curve. Under what circumstances would it have a steeper slope than the MC curve?

When marginal external costs increase as output increases. For example, the environmental damage from pollution may increase more and more rapidly as pollution increases and as the environment becomes less and less able to absorb the pollution.

4.
Give some examples of public goods (other than those given on page 211). Does the provider of these goods or services (the government or local authority) charge for their use? If so is the method of charging based on the amount of the good people use? Is it a good method of charging? Could you suggest a better method?

Two examples are: national defence; urban roads. In both cases the user is not directly charged. The funding comes from taxation. In the case of roads, part of the funding comes from road users generally (in the form of taxes on petrol and road fund licences) and part from general or local taxation. Only in the case of petrol tax is the charging related to the amount that people use the public good. It encourages people to use the roads less, and thus takes into account the marginal cost (i.e. repairs and maintenance) of road provision. In this sense, however, roads are not a pure public good because using them does create a small amount of wear and tear on them (although a significant portion of road maintenance costs are due simply to deterioration through time).



If the marginal cost of provision is zero (as is the case with a pure public good) then charging people according to how much they use it will not cause an efficient allocation of resources: with a zero marginal cost, the price should be zero.

6.
Name some goods or services provided by the government or local authorities that are not public goods.

Education, health, libraries, state retirement homes.

8.
Assume that you have decided to buy a new video recorder. How do you set about ensuring that you make the right choice between the available makes?

You would look at the specifications of all the models and see the extent to which they meet your requirements. You might also seek further ‘independent’ information. For example, you could ask friends about their videos, or you could look at something like Which magazine. You would then weigh up the specifications against the prices and try to choose one that gave you best value for money.

10.
Make a list of pieces of information a firm might want to know and consider whether it could buy the information and how reliable that information might be.

Some examples include:

· The position and elasticity of the demand curve:



Market research can provide some information, but it is very unreliable, especially in an oligopolistic environment, where the actions of rivals is unpredictable.

· Next year’s wages bill:




The information cannot be purchased, but it could use its own past experiences to predict (albeit imperfectly) the outcome of wage negotiations.

· The costs of alternative inputs:



This information is probably available free from suppliers.

· Ways of saving taxes:


 
Employing accountants can help the firm save money here.

12.
Assume that a firm discharges waste into a river. As a result, the marginal social costs (MSC) are greater than the firm’s marginal (private) costs (MC). The following table shows how MC, MSC, AR and MR vary with output.

Output
1
2
3
4
5
6    
7
8    

MC
MSC

TR

AR

MR
23

35

60

60

60
21

34

102

51

42
23

38

138

46

36
25

42

168

42

30
27

46

195

39

27
30    

52    

219    

36.5

24    
35

60

238

34

19
42    

72    

252    

31.5

14    


(a)
How much will the firm produce if it seeks to maximise profits?


(b)
What is the socially efficient level of output (assuming no externalities on the demand side)?


(c)
How much is the marginal external cost at this level of output?


(d)
What size tax would be necessary for the firm to reduce its output to the socially efficient level?


(e)
Why is the tax less than the marginal externality?


(f)
Why might it be equitable to impose a lump-sum tax on this firm?


(g)
Why will a lump-sum tax not affect the firm’s output (assuming that in the long-run the firm can still make at least normal profit)?

(a)
5 units.  This is the output where the firm’s marginal revenue equals its marginal (private) cost.


(b)
4 units.  This is the output where price (AR) equals marginal social cost.


(c)
£17.  Marginal external cost is marginal social cost minus marginal private cost (= £42 – £25).


(d)
£5 per unit of output.  This would raise the firm’s MC by £5. At 4 units of output the firm’s marginal cost would now be £30, which would be equal to its marginal revenue.


(e)
Because the firm has market power: it faces a downward sloping AR curve. This means that its MR is below the price (AR). At 4 units of output (the social optimum), MR is £12 lower than AR. Since the firm, in order to maximise profit, equates MC with MR and not AR, the tax needs to be £12 lower than the marginal externality: i.e. £5, not £17.


(f)
Because the firm is not paying the full amount of the externality that it is imposing on society and could thus be argued to be making excessive profit at society’s expense. A lump-sum tax can remove this excessive profit.


(g)
Because it is a fixed cost and thus does not affect the firm’s marginal cost. Therefore it does not affect the profit maximising output: it simply reduces the amount of profit at that output.

14.
Why might it be better to ban certain activities that cause environmental damage rather than to tax them?

See the four bullet points on pages 226–7.

16.
What protection do private property rights in the real world give to sufferers of noise (a) from neighbours, (b) from traffic, (c) from transistor radios at the seaside?

(a)
The noisy neighbours can be reported to the police/environmental health officers, who have powers to order the neighbours to be quieter.


(b)
Very little if any protection is given, unless your property is damaged by a road accident.


(c)
None.

18.
How would you evaluate the following?


(a)
The external effects of building a reservoir in an area of outstanding natural beauty.


(b)
The external effects of acid rain pollution from a power station.

In both cases it is difficult to give a precise valuation.



In the case of (a), you could try to estimate the amount people would be prepared to pay to visit the area before the reservoir was built and the amount people would be prepared to pay to enjoy the benefits of the reservoir (e.g. for fishing and sailing). But this ignores the psychic costs of building the reservoir to those who were not visitors to the area at all, but who might get very upset by the thought of areas of wilderness being destroyed.



In the case of (b), you could attempt to identify the commercial damage done to the forestry and fishing industries, but this ignores the possibly massive costs to the general population of seeing their beloved forests destroyed and their lakes and rivers polluted.

20.
Give examples of how the government intervenes to protect the interests of dependants from bad economic decisions taken on their behalf.

Insistence that children attend school; employing social workers to check that dependants are not being neglected; free school milk (in the past).

22.
Make out a case for (a) increasing and (b) decreasing the role of the government in the allocation of resources.

The answer to (a) is contained in sections 6.1 to 6.3.  The answer to (b) is contained in section 6.7.
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Box 6.1: A deeper shade of green

1.
If, according to the deep green approach, we should not do anything that involves environmental degradation, does this imply that the cost of environmental damage is infinite?

No.  It implies that we have no right to impose costs of our actions on others, whether that be other people, future generations, or the environment itself (whether animals, plants, the atmosphere, oceans or the earth).  In other words, the issue is not one of whether benefits outweigh costs, or vice versa (i.e. a question of efficiency), but rather one of the morality of imposing costs on unwilling ‘victims’ (human or otherwise).

2.
If the adverse effects on the environment of a person’s actions were confined to that person’s own property (e.g. a farmer cutting down hedgerows on his or her own land), would this matter if we took a social efficiency approach towards sustainability? Would there be any external costs?

There may well be external costs to other people in the future who would own and/or use that land. Environmental costs may well last beyond the length of time that the person owns the land.  With a social efficiency approach, these future costs to others would have to be taken into account.  To some extent, however, the effects on the property would be reflected in the price future owners would pay for it. But markets are not perfect (for example, future purchasers of the land may be unaware of the environmental damage: e.g. the extent of soil erosion) and, in the future, the costs may spill over to others who are not owners.

Box 6.2: Should health-care provision be left to the market?
1.
Does this argument also apply to food and other basic goods?

To some extent, but the problem is more acute in the case of health care. The expenditure on food is relatively constant per week, and therefore can more easily be budgeted for. For those unable to afford an adequate diet, cash benefits (such as family credit) could be argued to be better than the provision of free food as a means of tackling the problem. In the case of health care, because many people only require occasional treatment, but when they do, it can be very expensive, and because the needs of people differ so hugely, a fixed cash benefit per week related to income would be quite inappropriate, unless it had to be spent on some type of health insurance.

2.
Does the presence of external benefits from health care suggest that health care should be provided free?

This alone does not suggest that health care ought to be provided free, merely that it ought to be provided at a price below the marginal private cost of provision: a price that leads to consumption at the point where MSB = MSC. In some circumstances, if the external benefits are large, this could be a zero price, or even a negative price (e.g. paying people to be vaccinated).

3.
If health care is provided free, the demand is likely to be high. How is this high demand dealt with? Is this a good way of dealing with it?

It is dealt with by a system of queuing. Emergency cases are usually dealt with immediately, or at least very quickly, but non-emergency cases may have to wait weeks, months or even years for treatment. 



Many people would argue that for reasons of equity, and the special nature of health, it is better to solve the problem of waiting lists by diverting more resources into health care, rather than by using a system of charging people. Except where there are initially idle resources or inefficiencies, this approach will result in a lower provision of other publicly provided goods or services, or higher taxes.

4.
Go through each of the market failings identified in this box. In each case consider what alternative policies are open to a government to tackle them. What are the advantages and disadvantages of these alternatives?
· People may not be able to afford treatment.



 –
Cash benefits. 



 –
Free health care for those below a certain income.





Advantages: less costly to taxpayers.





Disadvantages: people just above threshold may have difficulty in affording treatment; given the problems of externalities and patient ignorance, the consumption of health care may be below the social optimum.



 –
Medical insurance (see discussion in the text).

· Difficulty for people in predicting their future medical needs.



 –
Medical insurance: (see discussion in the text).

· Externalities.



 –
Subsidies for treatments where there are substantial external benefits.





Advantages: less costly than comprehensive free health care, encourages the authorities to focus on the whole question of externalities





Disadvantages: difficult to measure externalities, administratively complex.

· Patient ignorance.



 –
Health education.





Advantages: can encourage people to detect early symptoms, can encourage people to take preventative measures.





Disadvantages: few (except if it makes people believe that they are better at diagnosis than they really are!)

· Oligopoly.



 –
Encouraging competition by attacking restrictive practices, by devolving budgets, etc.





Advantages: competition may reduce prices and improve quality.





Disadvantages: quality of provision may suffer in an attempt to cut the price of treatment, difficult for the consumer to make rational decisions given patient ignorance (see discussion in text).

Box 6.3: Green taxes
Is it a good idea to use the revenues from green taxes to subsidise green alternatives (e.g. using petrol taxes for subsidising rail transport)?
In terms of strict social efficiency criteria, the answer is no, unless the tax and subsidy were being used as a joint policy to correct one and the same externality: e.g. a charge being imposed on a firm which was then used to clean up the pollution that it had created. In all other cases, charging creators of negative externalities in one part of a country to finance subsidies for activities elsewhere that create positive externalities could be argued to be unfair. Why should the motorist in town A subsidise rail transport between towns B and C? The problem here is that there are redistributive effects as well as allocative ones. To correct for an externality without having any redistributive side effects, subsidies should be paid from general taxation.


The counter-argument that is often used is that it is desirable to redistribute income away from the general category of polluters to the general category of ‘green-minded’ people. There is also the very strong argument that governments, always short of finance, will be more willing to subsidise green activities if they can identify a specific source of new finance (e.g. taxing carbon emissions).

Box 6.4: Regulating privatised industries
1.
Should regulators of utilities that have been privatised into several separate companies allow (i) horizontal mergers (within the industry); (ii) vertical mergers; (iii) mergers with firms in other industries?

If the aim of regulators is to prevent monopoly abuse and to encourage competition, the test should be whether the mergers restrict competition. Generally horizontal mergers are more likely to restrict competition than vertical ones, and vertical mergers are more likely to restrict competition than mergers with firms in other industries. But even here, competition could be reduced. For example, if a bus company merged with a train company, competition in public transport in a given region could be restricted.

2.
If an industry regulator adopts an RPI – X formula for price regulation, is it desirable that the value of X should be adjusted as soon as cost conditions change?

It is desirable to adjust X in the light of changes in cost conditions external to the firm, otherwise a firm could gain windfall profits from cost reductions in which it played no part (or make losses if costs external to it rose). For example, if fuel costs fall, it is desirable that the X factor for an electricity generator should be adjusted upwards correspondingly (unless there is a separate ‘Y’ element in the formula for changes in costs outside the firm’s control).



As far as cost changes brought about by the firm’s internal operations are concerned, it is desirable that the X factor should be changed eventually (maybe after a few years). If, however, it is changed too quickly, it will reduce the incentive for firms to cut costs. What have they got to gain from doing so, if the regulator takes any increased profit away from them by increasing the value of X?

Box 6.5: The problem of urban traffic congestion
1.
Referring to a town or city with which you are familiar, consider what would be the most appropriate mix of polices to deal with its traffic congestion problems.

You will need to look at the road system to see if there are main commuter routes into the city where tolls or charges can be applied, without traffic being diverted. You should also look at the public transport system to see ways in which it could be improved. What are people’s attitudes towards using public transport? Is there scope for park-and-ride schemes? What is the rail infrastructure? You could examine how well or badly the cyclist is catered for in terms of dedicated cycle routes and safe junctions? You should examine the prices and availability of parking and estimate what the effects are on traffic.



You should consider the costs of each scheme and the willingness of people to change their behaviour patterns.

2.
Explain how, by varying the charge debited from the smart card according to the time of day or level of congestion, a socially optimal level of road use can be achieved.

The higher the level of congestion, the higher is the marginal external cost of motoring, and thus the higher must be the charge if the charge is to equal the full marginal social cost. What this means is that if the charge increases with the level of congestion, there is an incentive for people to reschedule their journeys to non-peak times.
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2.
For simplicity, taxes are shown as being withdrawn from the inner flow of the circular flow of income (see Figure 7.1) at just one point. In practice different taxes are withdrawn at different points. At what point of the flow would the following be paid: (a) Income taxes people pay on the dividends they receive on shares; (b) VAT; (c) business rates; (d) employees’ national insurance contributions?

(a)
From households.


(b)
Firms pay VAT out of the moneys they receive from the sale of goods and services.


(c)
From firms.


(d)
From the flow of income into households.

4.
Will the rate of actual growth have any effect on the rate of potential growth?

Yes.  To the extent that actual growth stimulates more investment and hence a faster growth in the stock of capital equipment, so this will cause a faster increase in the capacity to produce and hence cause potential growth to be faster. Similarly, if the economy is in recession, with negative actual growth, firms may cut back on their investment: what is the point in investing in increased capacity, if they cannot sell all that they are currently producing?  This cut-back in investment will lead to lower potential growth.



It is not only domestic firms that will respond to the current state of the economy and its prospects, but also foreign ones. A buoyant economy is likely to attract inward investment, which will increase potential as well as actual growth.

6.
Why do cyclical swings seem much greater when we plot growth on the vertical axis rather than the level of output?

Because when we plot growth on the vertical axis, we are plotting the rate of change of output. The rate of change will fluctuate much more than the level of output. (A rise in output from 100 units to 105 units and then to 115.5 units of output is a 5 per cent rise followed by a 10 per cent rise in the level of output. But this represents a 100 per cent rise in the rate of growth.)

8.
For what possible reasons may one country experience a persistently faster rate of economic growth than another?

Any or all of the following:


 •
A higher rate of savings and investment.


 •
Greater investment in education and training.


 •
A faster rate of increase in productivity.


 •
A more stable economy.


 •
A business environment conducive to investment (e.g. tax relief for investment, a minimum amount of government bureaucracy surrounding investment, an efficient capital market).


 •
A better transport and communications infrastructure.


 •
A more adventurous and entrepreneurial business culture.


 •
The discovery of new raw materials (e.g. oil).


 •
More harmonious industrial relations.


 •
A better motivated workforce.

10.
What major structural changes have taken place in the UK economy in the last 10 years that have contributed to structural unemployment?

A decline in many of the older industries (such as coal and ship building) and in parts of the service sector, such as financial services.

12.
What would be the benefits and costs of increasing the rate of unemployment benefit?

The main gain is to the unemployed themselves, but other members of society would also gain to the extent that, by providing the unemployed with a reasonable income (however defined), there would be less of a problem of poverty, family breakdowns, crime and other social tensions. The unemployed themselves would probably feel less demoralised and would be more employable.



The costs include the direct costs to the taxpayer of funding increased benefits. Then there is the problem that people might feel less inclined to look for work with the result that the unemployment rate could rise. This last problem, however, could be eliminated, or virtually so, by making it a strict condition of receiving benefit that the unemployed are actively seeking work and willing to accept ‘reasonable’ offers of work (this is the condition for receipt of the jobseeker’s allowance in the UK). Of course, this in turn would then create the problem that people might feel forced to accept very low-paid jobs for fear of losing their benefit.

14.
Do any groups of people gain from inflation?

The main gainers are:


 •
those who own assets which are increasing in value faster than the rate of inflation.


 •
debtors, if the rate of interest on their debts is below the rate of inflation (or at least has not risen as much as have prices).


 •
firms or unions with market power which can use their estimates of future inflation as a justification for pushing through price or pay rises above the current rate of inflation.


 •
people who benefit from speculating against relative price changes (e.g. of stocks and shares, or property), or against changes in the exchange rate.


 •
people whose business it is to provide insurance or other services to help people cope with inflation (e.g. financial experts).


If the inflation is the direct result of a rise in aggregate demand, then one of the effects of that rise will be a fall in unemployment (at least temporarily).

16.
Imagine that you had to determine whether a particular period of inflation was demand pull, or cost push, or a combination of the two. What information would you require in order to conduct you analysis?

In practice, it is very difficult since most periods of inflation have a number of different but inter-connected causes. Nevertheless, if there are clear independent rises in demand (say, for example, the government decides to cut income tax and increase benefits just before an election) then it would be fair to categorise any resulting inflation as ‘demand pull’. Likewise if there are clear independent rises in costs or reductions in aggregate supply (say, for example, an major oil price increase or a natural disaster) then it would be fair to categorise any resulting inflation as ‘cost push’. Of course, in both types of case it would be necessary to have clear evidence that subsequent inflation was indeed caused by these events and not by other factors.



The problem is that in most cases cost-push and demand-pull factors interact. A rise in consumer demand (a seemingly demand-pull factor) might have been the result, at least in part, of pay increases secured by trade unions. Those pay rises (a seemingly cost-push factor) might, in turn, have been demanded because unions saw their position being strengthened by a fall in unemployment, itself caused by higher demand.  That rise in demand might have been caused, in part, by previous pay increases, and so on.
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Box 7.1: Measuring national income and output
1.
Should we include the sale of used items in the GDP statistics? For example if you sell your car to a garage for £2000 and it then sells it to someone else for £2500, has this added £2500 to GDP, or nothing at all, or merely the value that the garage adds to the car, i.e. £500?

Normally, the sales of used items are not included in GDP statistics, since they do not involve production. If, however, they are sold through a shop or agent, then the service added by the agent should be included, since a service is being provided. Thus the value added by the garage in the question is included (i.e. the £500).

2.
What items are excluded from national income statistics which would be important to take account of if we were to get a true indication of a country’s standard of living?

Activities that do not involve exchange, but which do involve the provision of goods or services: e.g. child care, do-it-yourself activities in the home, the growing of vegetables in your garden or on your allotment. In many countries there is also a substantial ‘underground’ economy. This is where goods or services are provided, but which are not declared (usually to avoid taxes). Such goods and services should be recorded in the statistics, however, if a true valuation is to be made of a country’s standard of living.



Also we should take into account economic ‘bads’ such as pollution and stress that arise from production or consumption (these would enter with a negative value). We should also include other factors that reduce the quality of life, such as crime (also entered with a negative value).

Box 7.2: The Human Development Index (HDI)

1.
For what reasons are HDI and per-capita GDP rankings likely to diverge?


When the other two elements of HDI – education and like expectancy – diverge from per capita income in the rank order.  One of the main reasons for this divergence is inequality. Thus a country with a high GDP per capita, but which is very unequally distributed, may have a large proportion of the population which is poor, with relatively little access to education and with a relatively low life expectancy.

2. 
Why do Kuwait and Saudi Arabia have such a large negative figure in the final column of the table?


Income is very unequally distributed in these two countries (see answer to question 1 in this box).

Box 7.3: The costs of economic growth
1.
Is a constrained optimisation approach a practical solution to the possible costs of economic growth?

Yes.  But there still remains the question of what level of constraints should be applied.  For example, does the government apply rigorous environmental standards or more lax ones?

2.
Are worries about the consequences of economic growth a ‘luxury’ that only rich countries can afford?

This is a very cynical way of looking at the issue. The point is that the marginal benefit of increased output in a poor country is likely to be much higher than in a rich country (given the diminishing marginal utility of income). Thus if a cost–benefit study were done of specific growth policies, the benefits would probably enter with a higher value per unit in a poor country than in a rich country. This does not mean that the cost should be ignored. It is just that people may be prepared to make bigger sacrifices for increased output in poor countries than in rich countries.



We must be careful with these arguments, however. They could be used to ‘justify’ policies that are highly damaging to the environment by governments which have little long-term interest in the welfare of the people, or by firms which are unconcerned about the environmental consequences of their activities. The point is that costs should still be taken into account: it is just that the benefits should possibly be given a higher weighting.

Box 7.4:  The costs of unemployment
1.
How might an economist set about measuring the various the costs of unemployment to family, friends and society at large?

This is very difficult and will involve making a number of assumptions. Lost output could be measured in terms of its value (i.e. the value of output that the unemployed could have produced, had they been working). If unemployment creates other monetary costs to society, then these too could be measured (e.g. the costs of extra policing and other crime-related costs, if unemployment causes increased crime. The problem here is to establish a clear quantitative relationship between unemployment and crime.). The costs to family and friends in terms of stress and strain and general unhappiness are far harder to measure and inevitably would involve some subjective estimate (e.g. of the monetary compensation that would be required to recompense for these costs). Such an estimate could be made by interviewing people who had suffered from the effects of unemployment, but it is notoriously difficult to use questionnaire replies to establish reliable monetary values.

Box 7.5: The costs of inflation
1.
Do you personally gain or lose from inflation? Why?

You will have to answer this for yourself!  Whether you gain or lose will depend on (a) whether your income tends to go ahead of, or fall behind inflation; (b) whether you are a net borrower or saver, and whether the rate of interest is above or below the rate of inflation (if it is below, then the real rate of interest is negative and thus borrowers will gain and savers will lose); (c) just how inconvenient you find it to update your information on prices so that you can decide whether items are good value for money.  If you are in receipt of a student grant, you are probably a loser, given that grants have not risen to compensate for inflation.

2.
Make a list of those who are most likely to gain and those who are most likely to lose from inflation. Explain.

Gainers: powerful companies; members of powerful unions; property owners (if property is rising in value more rapidly than prices generally).


Losers: those on incomes fixed in money terms (e.g. savers living on interest on their capital: the real value of their capital will be being eroded by inflation); workers with no bargaining power; people on state benefits, where these benefits do not rise in line with prices; students.

Chapter 8
2.
What is the relationship between the mpcd and the mpw?


The mpcd is the proportion of a rise in national income that accrues to domestic firms from consumption (and thus excludes those parts of consumption that go on imports, and is measured in prices that firms actually receive: i.e. after the payment of taxes on goods and the receipt of any subsidies on goods).



mpcd = (Cd /(Y.


The mpw is the proportion of a rise in income that is withdrawn from the circular flow of income: i.e. the proportion that does not accrue to domestic firms. Thus:



mpw = 1 ( mpcd
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Diagram 8.1  How the multiplier depends on the slope of the W curve
4.
On a Keynesian diagram, draw three W lines of different slopes, all crossing the J line at the same point. Now draw a second J line above the first. Mark the original equilibrium and all the new ones corresponding to each of the W lines. Using this dia​gram, show how the size of the multi​plier varies with the mpw.

See Diagram 8.1. The flatter the W line (the lower the mpw), the bigger the rise in Y for any given rise in J, and hence the larger the value of the multi​plier.
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 Diagram 8.2  How the shape of the E line affects the size of the multiplier
6.
On a Keynesian diagram, draw two E lines of different slopes, both crossing the Y line at the same point. Now draw another two E lines, parallel with the first two and crossing each other vertically above the point where the first two crossed. Using this diagram, show how the size of the multiplier varies with the mpcd.


See Diagram 8.2. The first two E lines (EA0 and EB0) cross the Y line at point e. Equilibrium national income is Y0. Each curve now shifts upwards by the same amount (i.e. there is the same increase in injections), to EA1 and EB2 respectively. In the case of the shallower E line, EA1 (i.e. the one with the lower mpcd), national income only rises to Y1. In the case of the steeper E line, EB2 (i.e. the one with the higher mpcd), national income rises to Y2: the multiplier is larger.

8.
The present level of a country’s exports is £12 billion; investment is £2 billion; government expenditure is £4 billion; total consumer spending (not Cd) is £36 billion; imports are £12 billion and expenditure taxes are £2 billion. The economy is currently in equilibrium. It is estimated that an income of £50 billion is necessary to generate full employment. The mpw is 0.25.


(a)
Is there an inflationary or deflationary gap in this situation?


(b)
What is the size of the gap? (Don’t confuse this with the difference between Ye and YF.)


(c)
What would be the appropriate government policies to close this gap?

J = £12bn + £2bn + £4bn

= £18bn


Cd = £36bn – £12bn – £2bn 
= £22bn


( E (= Cd + J) = £18 + £22
= £40bn


Multiplier = 1/mpw 


= 1/(0.1 + 0.05 + 0.1)








= 4

(a)
Deflationary gap.  If the economy is in equilibrium, then Y = E.  Thus Ye = £40bn.  But full employment is achieved at an income of £50bn.  There is thus a deflationary gap.


(b)
£2.5bn.  This is the amount that must be injected (given a multiplier of 4) in order to increase national income by £10bn from the current £40bn to the full-employment level of £50bn.


(c)
Increase government expenditure by £2.5bn (or reduce taxes).

10.
In what way will the nature of aggregate supply influence the effect of a change in aggregate demand on prices and real national income?

See Figures 8.8 and 8.9 on pages 294 and 295.  The more elastic is aggregate supply with respect to changes in aggregate demand, the more will real national income be affected by a change in aggregate demand, and the less will the level of prices. In the extreme case of a totally inelastic aggregate supply curve, real national income will not be affected; the whole effect will be on the level of prices. In the other extreme case of an infinitely elastic aggregate supply curve (AS1 at levels of income below YF in Figure 8.8), the price level will not be affected at all; the whole effect will be on real national income.

12.
How can the interaction of the multiplier and accelerator explain cyclical fluctuations in national income?

If there is an initial change in injections or withdrawals, then theoretically this will set off a chain reaction between the multiplier and accelerator. For example, if there is a rise in government expenditure, this will lead to a multiplied rise in national income. But this rise in national income will set off an accelerator effect: firms will respond to the rise in income and the resulting rise in consumer demand by investing more. But this rise in investment constitutes a further rise in injections and thus will lead to a second multiplied rise in income. If this rise in income is larger than the first there will then be a second rise in investment (the accelerator), which in turn will cause a third rise in income (the multiplier). And so the process continues indefinitely. Each time investment changes it will cause a change in national income. Each time national income changes it will cause a change in investment.



But does this lead to an exploding rise in national income? Will a single injection cause national income to go on rising for ever? The answer is no. There are two reasons for this. The first is the obvious one that national income, in real terms, cannot go on rising faster than the growth in potential output. It will bump up against the ceiling of full employment, whether of labour or of other resources. Firms cannot go on investing if there are not the machines available to buy, or the space to install them, or the workers to operate them.



But there is a second reason why the multiplier/accelerator interaction will not lead to an ever growing national income. If investment is to go on rising, it is not enough that national income should merely go on rising: instead, national income must rise faster and faster. Once the growth in national income slows down, investment will begin to fall, and then the whole process will be reversed. A fall in investment will lead to a fall in national income which will lead to a massive fall in investment.

14.
Assume that there is a trade off between unemployment and inflation, traced out by a ‘Phillips curve’. What could cause a leftward shift in this curve?

A reduction in equilibrium unemployment (as a result, say, of improved job information or better retraining schemes), or a reduction in cost-push inflation (say, by a reduction in monopoly power). Either would give a lower rate of unemployment for any given rate of inflation, or a lower rate of inflation for any given rate of unemployment.

16.
How would the withdrawals curve shift in each of the following cases? (a) A reduction in the basic rate of tax. (b) An increase in personal allowances.

(a)
It would become shallower.


(b)
There would be a parallel shift downward.

18.
What factors determine the effectiveness of discretionary fiscal policy?

 •
The accuracy of forecasting the course the economy would take without the policy (in order to determine what policy measures are needed).


 •
The ability to forecast the magnitude of the effect of changes in G and T on other injections and withdrawals (e.g. the amount of crowding out).


 •
The ability to forecast the size and timing of the multiplier and accelerator effects.


 •
The ability of governments to act quickly.


 •
The relative effects of changes in aggregate demand on the various macroeconomic objectives.


 •
The size and nature of any side effects.


 •
The size and nature of any random shocks.

20.
Why is it difficult to use fiscal policy to ‘fine tune’ the economy?

Because of the following:


 •
The difficulties in forecasting the course of the economy and any random shocks, and thus the difficulty in deciding on the appropriate magnitude of any changes in G or T.


 •
The difficulties in predicting the magnitude of the effects of any changes in G and T

 •
The difficulties in predicting the timing of the effects of fiscal policy, given the substantial time lags involved.


•
The difficulties in taking policy measures early enough, again given the time lags involved.

Chapter 8  Boxes
Box 8.1:  The Keynesian revolution
1.
How do you think a classical economist would reply to Keynes’ arguments?

That the increases in government spending would lead to more government borrowing, which would mean less funds available for the private sector. Public works would merely end up replacing private production as resources were diverted from the private sector to the public sector. Given that the cause of the problem, to classical economists, was the rigidities in markets, the solution was to free-up markets: to encourage workers to accept lower wages, and producers to charge lower prices.

Box 8.2:  The accelerator: an example
1.
If there is an initial change in injections or withdrawals, then theoretically this will set of chain reaction between the multiplier and accelerator. Assuming that there is an initial rise in injections, trace through the multiplier and accelerator effects. Why is it unlikely that national income will go on rising more and more rapidly?

The effects can be shown in the following table:



 Period t 

J( ( Y(      
(Multiplier)


 Period t+1
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(Accelerator)
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This in turn will have a multi​plied upward effect, no effect, or a multi​plied downward effect resp​ective​ly on national income.


 Period t+3

This will then lead to a further acc​ele​rator effect and so on...​..




Box 8.3:  Business expectations and their effect on investment

1.
How is the existence of surveys of business confidence likely to affect firms’ expectations and actions?

They will amplify changes in expectations. If businesspeople are gloomy and plan to reduce investment, a pessimistic report on business expectations will only confirm their gloom and may cause them to reduce investment even further. Similarly an optimistic report may cause firms to increase investment.

2.
Why, if the growth in output slows down (but is still positive), is investment likely to fall (i.e. be negative)?  If you look at table (a) you will see that this happened in 1991 and 1992.

Because firms will require a smaller increase in capital. They will thus buy fewer extra machines and other equipment: i.e. investment will fall.

Box 8.4:  Discretionary fiscal policy in Japan
If tax cuts are largely saved, should an expansionary fiscal policy be confined to increases in government spending?

Under these conditions, increases in government spending, provided they are direct expenditure on output-generating activities, will be more effective than tax cuts in stimulating a recovery.

Box 8.5:  Following the golden rule
What effects will government investment expenditure have on public-sector debt (a) in the short run; (b) in the long run?

(a)
Increase.  Unless financed by extra taxation, an increase in government expenditure (for whatever purpose) will lead to an increase in public-sector debt.

(b)
Possibly decrease.  If the investment leads to extra output and income, then the extra tax revenue from the extra incomes and expenditure could more than offset the cost of the investment, thereby leading to a fall in public-sector debt.

Chapter 9
2.
What is meant by the terms ‘narrow money’ and ‘broad money’? Does broad money fulfil all the functions of money?

Narrow money is money that can be spent directly: i.e. cash and money in accounts that are instantly accessible by cheque or debit card without penalty. Broad definitions of money include the items in narrow definitions plus other highly liquid assets (i.e. items that can be readily converted into cash).



Broad money fulfils all the functions of money, albeit somewhat imperfectly. Like narrow money, however, its stability of value and hence its use as a means of storing wealth and evaluating assets depends on the rate of inflation. Unlike most forms of narrow money, however, parts of broad money are in the form of interest-bearing deposits, and therefore provide the holder with a better means of storing wealth. These accounts, however, are not generally instantly accessible via cards or cheques and are therefore inferior as a medium of exchange.

4.
If a bank has a surplus of cash, why might it choose to make a market loan with it rather than giving extra personal loans or mortgages to its customers?

Because it may anticipate that the surplus of cash will be only temporary.

6.
If a bank buys a £50 000 Treasury bill for £48 000 at roughly what price could it sell it to another financial institution after 45 days? Why is it not possible to predict that precise price when the bill is first purchased?

Approximately £49 000. The bank which purchased it in the first place makes approximately £1000 for the 45 days it has held the bill, and the financial institution which subsequently purchases it makes approximately £1000 for the remaining 46. It is not possible to predict the precise price, because it depends on what happens to interest rates (and that is not possible to predict with certainty). If interest rates come down over the first 45 days, then the financial institution would be prepared to pay more than £49 000, since it does not need to earn so much from the bill to make it equivalent to the interest it could earn elsewhere.

8.
Would it be possible for an economy to function without a central bank?

No.  There has to be a banker to the government, a lender of last resort, an issuer of currency and a keeper of the country’s foreign exchange reserves.

10.
If banks choose to operate a 20 per cent liquidity ratio and receive extra cash deposits of £10 million, assuming that the general public does not wish to hold a larger total amount of cash balances outside the banks:


(a)
How much credit will ultimately be created?


(b)
By how much will total deposits have expanded?


(c)
What is the size of the bank deposits multiplier?

(a)
£40m


(b)
£50m (i.e. the £10m initial extra cash deposits plus the £40m created credit)


(c)
5 (= 1/0.2)

12.
Why might the relationship between the demand for money and the rate of interest be an unstable one?
 
Because the demand for money depends things other than the current rate of interest (shown by the liquidity preference curve): for example, expectations about changes in interest rates, exchange rates and inflation.

14.
Trace through the effect of a fall in the supply of money on aggregate demand. What will determine the size of the effect?

The fall in money supply will cause the rate of interest will rise. This will curb the demand for investment and other borrowing, thereby reducing aggregate demand.



The size of the effect will depend on: (a) how sensitive interest rate changes are to a fall in the supply of money (which will depend on how readily the excess demand for money will be curbed by the higher interest rates); (b) the responsiveness of investment to a rise in interest rates (which to a large extent will depend on how business interprets the rise in interest rates – does it signify a slowing down of economic growth and worsening business prospects?); (c) the size of the multiplier effect resulting from the fall in investment.

16.
If the government ran a public sector-surplus (a negative PSNCR), could the money supply grow?

Other things being equal, a public-sector surplus will cause the money supply to contract. If, however, the other factors that determine the money supply (such as an increase in bank lending or an inflow of money from abroad) were a more powerful influence causing the money supply to expand than the public-sector surplus was in causing the money supply to contract, then the money supply would grow.

18.
If the government buys back £1 million of maturing bonds from the general public and then, keeping the total amount of its borrowing the same, raises £1 million by selling Treasury bills to the discount houses, what will happen to the money supply?

It will increase.  The reason is that the overall level of liquidity has increased: Treasury bills and money market loans are regarded as liquid assets by banks, and can be used as the basis for credit creation.

20.
What effect would a substantial increase in the sale of government bonds and Treasury bills have on interest rates?

It would drive them up.  In order to sell the extra bills, the government would have to accept a lower discount price (a higher rate of discount). In order to sell the extra bonds, governments would have to offer them at a higher rate of interest, or at a lower price for a given interest payment (which amounts to a rise in the interest rate). These higher rates of interest on government securities would have a knock-on effect on other rates of interest.

22.
What are the mechanics whereby interest rates are raised?

The central bank conducts open-market operations in the bill and gilt repo markets.  By keeping banks generally short of liquidity, it can decide the rate of interest at which it will make liquidity available through its open market operations.  By raising this rate, there is then a knock-on effect on other interest rates.  Box 9.2 examines the details of this process in the UK.

24.
How does the Bank of England attempt to achieve the target rate of inflation of 2½ per cent? What determines its likelihood of success in meeting the target?

If its forecasts of inflation are that inflation will be above 2½ per cent, it announces a rise in interest rates and then uses open market operations (offering liquidity to the banks through gilt reps at a higher rate of interest) to bring this about.  If the forecasts are for inflation to be below 2½ per cent it announces a reduction in interest rates and then conducts open market operations (offering liquidity to the banks through gilt reps at a lower rate of interest) to bring this about. It success in meeting this target depend on the accuracy of its forecasts and the response of aggregate demand to interest rate changes. These two factors in turn depend on people’s expectations and on external shocks to the economy (such as a world oil price change or a world stock market crisis).

Chapter 9  Boxes
Box 9.1:  UK monetary aggregates
Why is cash in banks and building societies included in M0 but not in the other measures?
Because in the other measures it is already included in bank deposits. To count it as a separate item apart from bank deposits would be a case of double counting.

Box 9.2:  The daily operation of monetary policy
Assume that the Bank of England wants to reduce interest rates. Trace through the process during the day by which it achieves this.
The Bank of England can reduce the repo rate.  The banks and discount houses will discover this by finding that in the early round of open market operations (i.e. at 9.45 am, or at 12.00 noon) they can sell back to the Bank of England all the bills necessary to meet their liquidity shortage.  The willingness of the Bank of England to buy bills in the early round signifies that the repo rate has been reduced.  The next day the banks and discount houses will offer to sell their gilts and bills back at a higher price (lower repo and discount rates and hence a lower rate of interest).  A reduction in the rate of interest has thus been achieved.

Box 9.3:  Monetary policy in the euro-zone
What are the arguments for and against publishing the minutes of the meetings of the ECB's Governing Council and Executive Board?
For:
The greater transparency and publicity would help to show how focused the ECB was on keeping the rate of inflation down to the target. It could help to reduce inflationary expectations.  It could help to inform public debate on the direction and efficacy of monetary policy.  Secrecy goes against the principles of democratic accountability.

Against: Any disagreements could be seen as a weakness and could undermine public and international confidence in monetary policy and the strength of the euro.  It might limit frank debate by the members of the Council and make the Council more cautious.  

Box 9.4:  Should central banks be independent of government?
Is there any case for an independent body to determine fiscal policy?  If so, what would its role be?
Yes.  A case could be made on economic grounds for a body to determine the size of the budget deficit or surplus. This could then provide a more stable fiscal environment, where manipulation of aggregate demand for short-term political ends would be ruled out.


The government would still decide the levels of government expenditure and taxation (i.e. whether to have higher government expenditure and higher taxes, or lower government expenditure and lower taxes for any given size of the budget deficit), and of course it would still decide the individual amounts allocated to each item of government expenditure and the rates of each specific tax.


Despite this limited role for the independent body, governments would be very unlikely to create such a body, since they would see the control of their own expenditure and taxation as entirely the concern of government.

Chapter 10
2.
If both V and Q are constant, will (a) a £10 million rise in M lead to a £10 million rise in P and (b) a 10 per cent rise in M lead to a 10 per cent rise in P? (Again, try fitting some numbers to the terms.)

(a)
No (unless V = Q: which it never would)


(b)
Yes

4.
Assume that inflation depends on two things: the level of aggregate demand, indicated by the inverse of unemployment (1/U), and the expected rate of inflation ( eq \O()P et).  Assume that the rate of inflation ( eq \O()Pt) is given by the equation:
 eq \O()


Pt = (48/U ( 6) + P eq \O() et

Assume initially (year 0) that the actual and expected rate of inflation is zero.


With the actual and expected rate of inflation being zero, unemployment will currently be at the natural rate.  To find this, therefore, we need to solve the above equation for where P eq \O()t and  eq \O()P et equal zero.



  (
0 = 48/U ( 6 + 0



  (
48/U = 6



  (
48 = 6U


  (
U = 8


The natural rate of unemployment is therefore 8 per cent.


[Note that the natural rate of unemployment is given by the vertical Phillips curve, and therefore by any rate of inflation where the actual rate equals the expected rate.  This can be demonstrated by simply setting P eq \O()t equal to P eq \O() et in the above equation.  The solution will be exactly as demonstrated.]


(a)
Now assume in year 1 that the government wishes to reduce unemployment to 4 per cent and continues to expand aggregate demand by as much as is necessary to achieve this. Fill in the rows for years 0 to 4 in the following table. It is assumed for simplicity that the expected rate of inflation in a given year ( eq \O()P et ) is equal to the actual rate of inflation in the previous year (P eq \O()t(1 ).


See the top part of Table (b) on the next page.
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 Table (b)
Year
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(b)
Now assume in year 5 that the government, worried about rising inflation, reduces aggregate demand sufficiently to reduce inflation by 3 per cent in that year.  What must the rate of unemployment be raised to in that year?


The term (48/U ( 6) must now equal (3.



Solving gives:




48/U ( 6 = (3



 (
48/U = 3



 (
48 = 3U


 (
U = 16


(c)
Assuming that unemployment stays at this high level, continue the table for years 5–7.



See the bottom part of Table (b) above.

6.
For what reasons may the NAIRU increase?

Imperfections and rigidities in the labour market increase (e.g. people become de-skilled or demotivated by prolonged unemployment in a recession), or the rate of structural change in the economy accelerates.

8.
Taking first a monetarist viewpoint and then a Keynesian one, explain each of the following:


(a)
Why there were simultaneously higher levels of inflation and unemployment in the 1970s and 1980s than in the 1950s and 1960s.


(b)
Why there were simultaneously lower levels of inflation and unemployment in the late 1990s than in the 1970s and 1980s?


In both cases consider the Keynesian and monetarist points of view.

Keynesian


(a)
•
Increases in equilibrium unemployment (structural) resulting from rapid changes in technology, competition from abroad and shifts in demand from older labour intensive industries to modern ‘high-tech’ ones.



•
Hysteresis.



•
A downward ‘stickiness’ in real wages because of firms being more concerned with efficiency wages and because of insider power.



•
Cost-push inflation resulting from union power, commodity price increases and growing industrial concentration (through mergers and takeovers).


(b)
•
A reduction in cost-push pressures, given the decline in union power, lower oil prices and greater international competition (from freer trade).



•
A reduction in equilibrium unemployment, resulting from more flexible labour markets, less state support for the unemployed and a slowing down in the rate of industrial change.


Monetarist


(a)
•
Higher inflation, resulting from faster growth in the money supply (and hence a movement up the vertical long-run Phillips curve).



•
A rise in the natural rate of unemployment (and hence a rightward shift in the vertical long-run Phillips curve), resulting from restrictive union practices, growing state protection for the unemployed and faster structural change. 


(b)
•
Lower inflation, resulting from a slower growth in the money supply.



•
A fall in the natural rate of unemployment, resulting from more flexible labour markets and a tightening up of the regulations concerning eligibility for unemployment benefit.

10.
What implications would a vertical short-run aggregate supply curve have for the effects of demand management policy?

It would make it totally ineffective as a means of controlling output and employment in any systematic way.

12.
Describe the effect of a contractionary monetary policy on national income from (a) a Keynesian perspective;(b) a monetarist perspective.

(a) Keynesian


1.
A fall in money supply will lead to a rise in the rate of interest.


2.
The rise in the rate of interest will lead to a fall in investment and other forms of borrowing. It will also lead to a rise in the exchange rate and hence a fall in exports and a rise in imports.


3.
The fall in investment, and the fall in exports and rise in imports, will mean a fall in aggregate demand and a resulting fall in national income and output.


Because the magnitude of effects 1 and 2 is uncertain, monetary policy cannot be relied on as a means of curbing national income.


(b) Monetarist


A contractionary monetary policy will have a powerful effect on aggregate demand and prices. Real national income will only be affected in the short run. In the long run the aggregate supply curve is vertical and any contraction in aggregate demand will simply lead to lower prices, leaving real national income unaffected.

14.
Imagine you are a monetarist economist called in by the government to advise on whether it should attempt to prevent cyclical fluctuations by the use of fiscal policy. What advice would you give and how would you justify the advice?

It is better to avoid trying to fine-tune the economy through fiscal policy. Such policies involve considerable time lags and uncertainties and could end up operating in the wrong direction, thus making the problem of instability worse. What is more, pure fiscal policy is ineffective. Fiscal policy only works (or appears to) when it is backed up by monetary policy: in which case, it is better to focus on monetary policy. But even here, there are time lags. It is much better, therefore, to give up short-term demand management and instead set monetary rules (targets) so as to create a more stable long-term environment.

16.
Under what circumstances would adherence to inflation targets lead to (a) more stable interest rates, (b) less stable interest rates than pursuing discretionary demand management policy?

(a)
This would occur if adhering to inflation targets was accompanied by a belief that inflation would be successfully kept at its target by the authorities. This would then not put undue upward or downward pressure on inflation, would help to create a more stable demand for money and would thus avoid the need for significant changes in interest rates. It would also occur if discretionary fiscal policy involved having to make substantial changes to aggregate demand and hence to the demand for money (which would lead to changes in interest rates unless accompanied by changes in money supply), or if discretionary monetary policy involved changing interest rates to achieve changes in aggregate demand.


(b)
This would occur if inflation was initially considerably off-target, or if inflation was subject to external shocks (such as a substantial world oil price change). It would also occur if discretionary policy had the effect of expanding aggregate demand when interest rates were falling (thus helping to arrest the fall) and reducing aggregate demand (or its rate of growth) when interest rates were rising (thus helping to arrest the rise).

18.
Why might market-orientated supply-side policies have undesirable side effects on aggregate demand?

Tax cuts to increase incentives, other things being equal, will lead to a rise in aggregate demand. Unless the supply-side policy is able to cause a matching rightward shift in the aggregate supply curve, or unless the economy is currently operating below capacity, the effect will be inflationary. Cuts in government expenditure, if applied during a recession, will tend to make the recession worse.

20.
What types of tax cuts are likely to create the greatest (a) incentives, (b) disincentives to effort?

Cuts in income tax will tend to encourage people to work more/harder, because they increase the opportunity cost of leisure. This is the substitution effect: an incentive. However, by increasing after-tax incomes, they will also tend to make people feel that they can afford to work less. This is the income effect: a disincentive. Cutting marginal rates of tax, especially for those just into a given tax bracket, will have a substitution effect, but very little income effect, and therefore have a net incentive effect. Increasing allowances, however, will have an income effect, but no substitution effect, since the marginal rate of tax is not altered. Cutting the marginal rate for those already paying a considerable amount of the tax, will have a large income effect relative to the substitution effect. In both these cases there is a net disincentive effect.



Tax cuts for business will tend to have more of an incentive effect, the more that the benefits of the tax cuts are conditional upon increasing investment or cutting costs. Simple cuts in corporation tax (tax on profits), like cuts in income tax, will have both an income and a substitution effect. When the cut is first made, the windfall rise in profits may have a net disincentive effect. However, a country with relatively low corporation taxes is likely to encourage more investment over the longer term, both domestic and inward.

Chapter 10  Boxes
Box 10.1:  The political business cycle
1.
Why might a government sometimes ‘get it wrong’ and find itself at the wrong part of the Phillips ‘loop’ at the time of an election?

Because it has imperfect information on (a) current expectations and trends in unemploy​ment and inflation; (b) the time lags before the policy’s full effect on aggregate demand is felt; (c) just how expectations will be affected by its policies.

2.
Which electoral system would most favour a government being re-elected – the US fixed term system with presidents being elected every four years, or the UK system where the government can choose to hold an election any time within five years of the last one?

The UK system.  This gives a government more flexibility to ensure that the economy is at the politically best point of the trade cycle at the time of the election.

Box 10.2: Inflation targeting
Why may there be problems in targeting (a) both inflation and money supply; (b) both inflation and the exchange rate?
(a)
It depends on how consistent the two targets are. If the target for the growth in the money supply is too lax, then inflation may rise above its target. If, however, the target for the growth in the money supply is periodically adjusted to make it consistent with the target rate of inflation, then the problem largely disappears. It is simply then a question of whether the two targets can actually be achieved.

(b)
There is much more problem in targeting both the rate of inflation and the rate of exchange. The major, if not the only, instrument for achieving either target is the rate of interest. If the exchange rate were above its target and the inflation rate were above its target, then to meet the exchange rate target would require a cut in the rate of interest, whereas to meet the inflation target would require a rise in the rate of interest  The two are clearly incompatible.

Box 10.3: Productivity and economic growth

1.
Identify some policies that a government could pursue to stimulate productivity growth through each of the above means.
· Giving firms grants and/or tax relief for investment; reducing delays in hearing planning applications.

· Putting more public money into education, training, R&D and infrastructure; better auditing to ensure that such money is used efficiently.

· Reducing barriers to trade (see page 388) and outlawing various anti-competitive practices (see page 227)



Many of the supply-side policies that are considered in sections 10.7 are designed to increase productivity.

2.
In the November 1998 pre- Budget Report it was stated that ‘US consumers pay less than those in the UK for a significant range of products.  For example, figures from the OECD show, adjusting for movements in exchange rates, British prices are higher than in the US by an average of: 58 per cent for furniture and carpets; 54 per cent for hotels and restaurants; 29 per cent for cars.’  Can productivity differences explain price differences?


Prices depend on both demand and costs.  Thus price differences between two countries may be partly a reflection of cost differences, which in turn are largely a reflection of differences in productivity (see the figure in this box), but they may also reflect differences in market power. For example, higher car prices in the UK than in many other countries have been attributed to the market power of manufacturers and their retail dealers (see Box 4.6 on page 151).

Box 10.4:  Alternative approaches to training and education

1.
Governments and educationalists generally regard it as desirable that trainees acquire transferable skills. Why may many employers disagree?

Employers will probably want their trainees to acquire skills that allow them to be used flexibly within the organisation, but will not want such skills to make them a target for other employers. Clearly, in many instances it is impossible to meet both objectives simultaneously. The better the skills acquired, the greater will be the worker’s chances of gaining a good job elsewhere.

2.
There are externalities (benefits) when employers provide training. What externalities are there from the undergoing of training by the individual? Do they imply that individuals will choose to receive more or less than the socially optimal amount of training?

Let us assume that the individual has the choice whether or not to be trained (or at least knows when accepting the job that it includes training). To the extent that training benefits people other than the trainee, there will be external benefits. Such benefits might include, for example, the worker sharing newly acquired skills with colleagues. In such circumstances, the individual will choose to have less than the optimal amount of training.  (Note that this is a separate issue from the amount of training provided. This depends on the private costs and benefits to the employer.)

Box 10.5:  ‘Third-Way’ supply-side policies

What types of unemployment are the New Deals designed to tackle?

Frictional unemployment (by providing information and advice to job seekers and reducing the options of staying on benefit); structural and technological unemployment (by providing training to job seekers and offering grants to employers to provide training).

Chapter 11
2.
Imagine that two countries, Richland and Poorland can produce just two goods, computers and coal. Assume that for a given amount of land and capital, the output of these two products requires the following constant amounts of labour:


Richland
Poorland

1 computer

100 tonnes of coal
2

4
4

5


Assume that each country has 20 million workers.


(a)
If there is no trade, and in each country 12 million workers produce computers and 8 million workers produce coal, how many computers and tonnes of coal much will each country produce? What will be the total production of each product?


(b)
What is the opportunity cost of a computer in (i) Richland; (ii) Poorland?


(c)
What is the opportunity cost of 100 tonnes of coal in (i) Richland; (ii) Poorland?


(d)
Which country has a comparative advantage in which product?


(e)
Assuming that price equals marginal cost, which of the following would represent possible exchange ratios?  (i) 1 computer for 40 tonnes of coal; (ii) 2 computers for 140 tonnes of coal; (iii) 1 computer for 100 tonnes of coal; (iv) 1 computer for 60 tonnes of coal; (v) 4 computers for 360 tonnes of coal.


(f)
Assume that trade now takes place and that 1 computer exchanges for 65 tonnes of coal. Both countries specialise completely in the product in which they have a comparative advantage. How much does each country produce of its respective product?


(g)
The country producing computers sells 6 million domestically. How many does it export to the other country?


(h)
How much coal does the other country consume?

(a)
Richland:
6 million computers; 200 million tonnes of coal



Poorland:
3 million computers; 160 million tonnes of coal



Total:
9 million computers; 360 million tonnes of coal


(b)
(i)
50 tonnes of coal (for every 2 workers diverted to computer production, 50 tonnes of coal are sacrificed).



(ii)
80 tonnes of coal (for every 4 workers diverted to computer production, 80 tonnes of coal are sacrificed).


(c)
(i)
2 computers (i.e. 4/2)



(ii)
1¼ computers (i.e. 5/4)


(d)
Richland has a comparative advantage in computers (it can produce them at a lower opportunity cost than can Poorland).



Poorland has a comparative advantage in coal (it can produce it at a lower opportunity cost than can Richland)


(e)
Before trade 1 computer exchanges for 50 tonnes of coal in Richland and for 80 tonnes of coal in Poorland.  If the computer : coal trade ratio is anywhere between 1:50 and 1:80, both countries can gain from trade, and therefore trade would take place.




Ratios (ii) and (iv) meet this condition, and are therefore possible exchange ratios.  In the case of (i) it would benefit neither country to export computers. In the cases of (iii) and (v) it would benefit neither country to export coal.  Thus (i), (iii) and (v) are not possible exchange ratios.


(f)
Richland: 10 million computers



Poorland: 400 million tonnes of coal


(g)
4 million (i.e. 10 million ( 6 million)


(h)
Poorland must import 4 million computers, for which it must export 260 million tonnes of coal (i.e. 4 million ( 65 tonnes).  It will therefore consume the remaining 140 million tonnes of coal.

4.
To what extent are the arguments for countries specialising and then trading with each other the same as those for individuals specialising in doing the jobs at which they are relatively well suited?

The arguments are very similar. Individuals will gain by specialising in jobs in which they have a comparative advantage and using the money they earn to buy items which they could only have produced themselves relatively inefficiently.

6.
Would it be possible for a country with a comparative disadvantage in a given product at pre-trade levels of output to obtain a comparative advantage in it by specialising in its production and exporting it?

Yes, if the country has potential economies of scale in producing that good (which it had not yet exploited). Specialisation could then reduce the opportunity costs of that good below that of the same good in other countries. (This assumes that the other country does not have potential economies of scale in that good or does not exploit them if it does.)

8.
It is often argued that if the market fails to develop infant industries, then this is an argument for government intervention, but not necessarily in the form of restricting imports. What other ways could infant industries be given government support?

Examples include: subsidies, tax concessions, the construction of infrastructure that supports these industries, placing government contracts with these industries.

10.
Does the consumer in the importing country gain or lose from dumping? (Consider both the short run and the long run.)

In the short run the consumer will gain from cheaper products. In the long run the consumer could lose if domestic producers were driven out of business, which then gave the foreign producer a monopoly.  At that point, it is likely that prices would go up above the pre-dumping levels.

12.
Make out a case for restricting trade between the UK and Japan. Are there any arguments here that could not equally apply to a case for restricting trade between Scotland and England or between Liverpool and Manchester?

To protect industries that would find it difficult to survive the competition from Japan (perhaps because of Japanese government promotion of those industries), but which have a potential comparative advantage (i.e. infant industries, or industries suffering from a long-term lack of investment), or whose decline would cause adjustment problems (such as high localised unemployment). There is the danger, however, that the protected industries may simply remain inefficient, to the detriment of the consumer.



Although there is often a case for regional policy in a country – to support declining industries or to encourage the development of new industries – it is likely that the adjustment costs for one part of the country to competition from another part of the country will be less that the adjustment costs arising from competition from another country (such as Japan). Labour is more mobile domestically than internationally, and thus the unemployed can more easily move to another part of the country where there are jobs, than to another part of the world.

14.
If countries are so keen to reduce the barriers to trade, why do many countries frequently attempt to erect barriers?

This is an example of the prisoners’ dilemma (see section 4.5 in the book). There may be a net gain to all countries from a reduction in trade barriers, but any one individual country may gain if it alone erects a barrier against other countries, and will suffer if it does not erect barriers and other countries do. The effect of this is that countries will all tend to increase their protection unless international agreements (such as the one setting up the WTO) can be signed, binding the signatories to refrain from increasing the protection of their industries.

16.
How would you set about assessing whether or not a country had made a net dynamic gain by joining a customs union? What sort of evidence would you look for?

It is very difficult to make an assessment. You would need to take each argument and attempt some quantification in the two circumstances of (i) having joined and (ii) not having joined. This will necessarily involve making some fairly gross assumptions about what would have happened in the hypothetical case of it not having joined.  



The sort of evidence you could look for would be (a) the country’s performance before joining and how its performance changed after joining, (b) other factors that could have caused changes in its performance, (c) the experience of other countries which faced similar problems but had not joined a customs union.

18.
Is trade diversion in the EU more likely or less likely in the following cases?


(a)
European producers gain monopoly power in world trade.


(b)
Modern developments in technology and communications reduce the differences in production costs associated with different locations.


(c)
The development of the internal market produces substantial economies of scale in many industries.

(a)
It depends on why they have gained monopoly power.  If it is due to their protected home market and their ability therefore to drive competitors out of business, then trade diversion is more likely. They are likely to become high cost producers. If, however, their monopoly power has resulted from economies of scale, increased investment and efficiency and lower costs generally, then trade diversion is less likely.  Trade will probably be moving to lower cost producers.


(b)
Less likely.  If production cost differences diminish between EU and non-EU producers, there is less likelihood of trade being diverted to a higher cost internal producer.


(c)
Less likely.  Costs are likely to fall more in the EU than outside, and thus there is less chance of trade being diverted to a higher cost internal producer.

20.
Look through the costs and benefits that we identified from the single European market. Do the same costs and benefits arise from a substantially enlarged EU?

The possible benefits of trade creation, economies of scale and greater competition all apply, as do the costs of adverse regional multiplier effects, the costs of change and the possible increase in monopoly power. The bigger the Union becomes, however, the less the likelihood of trade diversion.

22.
If a developing country has a comparative advantage in primary products, should the government allow market forces to dictate the pattern of trade?

Given that markets are imperfect and factors are immobile, government intervention would normally be justified (unless governments themselves were even more imperfect than the market forces!).  Even though a country may have an initial comparative advantage in primary production, the gains from specialising in primaries and exporting them may be offset by other disadvantages – disadvantages that build over time.  With a low world income elasticity of demand for primary products, with the development of synthetic substitutes for minerals and with the protection of agriculture in developed countries, the demand for primary exports from developing countries has grown only slowly.  At the same time, the demand for manufactured imports into developing countries has grown rapidly.  The result has been a worsening balance of trade problem; and with a price-inelastic demand for both imports and exports, the terms of trade have worsened too.


In addition to these problems, there is also the danger that comparative costs may change over time; that most of the benefits from primary exports may accrue to foreign owners of mines and plantations, or to wealthy elites in the domestic population; that mines and plantations can involve substantial environmental and other external costs; and that export earnings can fluctuate, given instabilities in supply and unstable world prices.


Even if it is agreed that government intervention is warranted, the method of intervention is highly controversial.  Some argue that the whole focus of intervention should be to make the private sector more responsive to market forces, so that it can respond quickly to changing market opportunities.  For example, the country could be opened to international financial markets, regulations could be dismantled and there could be a programme of privatisation.  Others argue that the focus ought to be on improving the country’s infrastructure – transport, communications, education, etc.  This will require government expenditure, but it could still be seen as the government working with the market by helping to increase factor mobility, both occupationally and geographically.  Others argue that the problems with trade are so great that the country’s exposure to international market forces ought to be minimised and the country should pursue an active policy of import substitution.

24.
In what ways may free trade have harmful cultural effects on a developing country?
The products and the lifestyles which they foster could be seen as alien to the values of society. For example, many developing countries have complained about the ‘cocacolonisation’ of their economies, whereby traditional values are being overcome by Western materialist values.

26.
What are the advantages and disadvantages for a developing country of pursuing a policy of ISI?


See pages 429–33.  The advantages include the dynamic gains from specialising in products with both internal and external economies of scale, with a greater rate of cost reduction from technical improvements, and with income elastic demands.



The disadvantages, however, are many.  ISI often led to the establishment of inefficient industries, protected from foreign competition and facing little or no competition at home either.  It led to considerable market distortions, with tariffs and other forms of protection haphazardly applied and with resulting huge variations in effective rates of protection; to overvalued exchange rates with a resulting bias against exports and the agricultural sector generally; to a deepening of inequalities and to large-scale social problems as the cities expanded, as poverty and unemployment grew and as traditional values were undermined; and to growing environmental problems.  Finally, the problem that ISI was supposed to ease – the balance of payments constraint – was in many cases made worse as the new industries became increasingly dependent on imported inputs and as growing urbanisation caused a growing demand for imported consumer goods.
28.
Would the use of import controls help or hinder a policy of export-orientated industrialisation?


In the early stages of industrialisation they may help a country build up its infant industries – industries that later could become export orientated.  If protection is maintained for too long, or is too distorting, however, such industries could well remain inefficient and find it difficult to compete internationally.
Chapter 11  Boxes
Box 11.1:  Do we exploit foreign workers by buying cheap foreign imports?
Under what circumstances would a gain in revenues by exporting firms not lead to an increase in wage rates?
When there is such surplus labour (e.g. through high unemployment or the firms being legally required to pay minimum wage rates) that an increase in demand for labour will not bid up the wage rate.  At least, however, unemployment will probably fall, unless new workers flood in from the countryside to take advantage of new jobs created in the towns.

Box 11.2:  The Battle of Seattle

1.
Are there any ways in which free trade benefits the environment?


Free trade tends to encourage a more rapid diffusion of new technologies. To the extent that these are cleaner than older ones, free trade can be seen (at least in this way) to benefit the environment.  Also, to the extent that greener products become more popular in certain countries, so this change in tastes is likely to spread to consumers in other countries more rapidly with free trade.

2.
In what ways does freer trade lead to (a) more competition; (b) less competition?

(a)
The reduction in protection will make imports cheaper and more available. This represents increased competition for domestic producers in terms of both price and product quality and range.


(b)
The increased competition may drive domestic producers out of business, thereby helping to establish foreign-based monopolies or oligopolies.  These large multinationals may use ‘unfair’ methods of competition, such as predatory pricing (charging prices below average cost), to achieve this. Having driven domestic producers out of the market, the multinationals may then take advantage of their market power to raise prices – against the interests of consumers.
Box 11.3:  The North American Free Trade Association (NAFTA)
What problems would be likely to occur if the member countries of NAFTA sought to make it a full common market?
There would be considerable opposition, given the large differences in economic conditions between the USA and Mexico. With a full common market, there would be considerable factor movements. In particular, there would probably be large-scale migration of Mexican workers to the USA, which could cause considerable social and other adjustment problems. Also, given the huge difference in the level of economic development of Mexico and the USA, it would be very difficult to agree on common laws and regulations, a common system of taxation and common macroeconomic policies.

Box 11.4:  Features of the single market
In what ways would competition be ‘unfair’ if VAT rates differed widely between member states?
It would give an unfair price advantage to producers in these countries. This would be a particular problem for relatively expensive items, where it would be worthwhile consumers incurring the cost of travelling to the countries charging lower rates of VAT.


After customs restrictions were lifted in 1993 on imports of alcoholic drinks into the UK from other EU countries (for personal consumption), many people took ferries over to France to stock up on wine and beer in order to avoid the higher rates of excise duty in the UK. Off-licences in the UK, especially those near the Channel ports, lost money as a result.

Box 11.5:  Multinational corporations and developing countries

What other ways are there for a developing country to finance a higher level of investment? Are there any drawbacks in the methods you have identified?
It could try to finance it through internal sources. There are three possibilities here.


The first is to try to encourage increased saving, for example by improving the banking system and increasing interest rates. The problem is that poor people have a very limited capacity to save.


The second is to raise taxes and use the money for financing investment (whether public or private). The problem here is similar. The tax capacity of poor countries is limited. Poor people cannot afford to pay much in taxes, and, anyway, collecting very small amounts of tax from a large number of people would be very costly for the tax authorities. If, instead, taxes on the rich or business taxes were increased, this could itself discourage investment, both investment by domestic companies and inward investment by multinationals.


The third is to increase the money supply and use it for investment. This could be a useful short-term measure for diverting resources from consumption to investment, but the inflationary consequences could ultimately cause uncertainty and a lack of confidence, which could have the effect of reducing, not increasing, investment.


The alternative is to finance investment by borrowing and hope that the increased output from the investment will allow the debts to be ‘serviced’ (i.e. will raise enough revenue to pay off the debt with interest) and still have a net gain. However, as the experience over the last 30 years has demonstrated, developing country debt can prove very difficult to repay and can lead to a massive net drain on a country’s resources. 
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2.
The following are the items in the UK’s 1998 balance of payments


£ billions  

  Exports of goods
163.7   

  Imports of goods
184.3   

  Exports of services
61.8   

  Imports of services 
49.1   

  Net income flows
+15.8   

  Net current transfers
(6.4   

  Net capital transfers
+0.4   

  Net investment in UK from abroad
61.3   

  Net UK investment abroad
104.5   

  Other financial inflows
47.2   

  Other financial outflows
13.3   

  Reserves
+0.2   


Calculate the following:


(a)
The balance on trade in goods.


(b)
The balance on trade in goods and services


(c)
The balance of payments on current account.


(d)
The financial account balance.


(e)
The total current plus capital plus financial account balance


(f)
Net errors and omissions.

(a)
Deficit of £20.6 billion  (i.e. £163.7 ( £184.3).


(b)
Deficit of £7.9 billion (i.e. –£20.6bn + £61.8bn – £49.1bn).


(c)
Surplus of £1.5 billion (i.e. –£7.9bn + £15.8bn – £6.4bn).


(d)
Deficit of £9.1 billion (i.e. £61.3bn ( £104.5bn + £47.2bn – £13.3bn + £0.2bn).


(e)
Deficit of £7.2 bil​lion (i.e. £1.5bn + £0.4bn ( £9.1​bn).


(f)
+ £7.2 billion

4.
Is it a ‘bad thing’ to have a deficit on the direct and portfolio investment part of the financial account?

In the short run there is an outflow of finance from the country, but in the long run, increased investment should yield profits, which are a credit on the investment income part of the current account.

6.
List some factors that could cause an increase in the credit items of the balance of payments and a decrease in the debit items. What would be the effect on the exchange rate (assuming that it is freely floating)? What effect would these exchange rate movements have on the balance of payments?

A fall in inflation relative to that in other countries; a fall in incomes relative to those in other countries; a fall in interest rates relative to those in other countries; an improvement in investment prospects at home; speculation that the exchange rate is about to appreciate; shifts in consumer tastes away from foreign goods to domestic goods; an improvement in the quality of domestic goods.



The surplus on the balance of payments at the existing exchange rate (an excess of demand for the domestic currency over supply) would cause the exchange rate to appreciate.  The appreciation, in turn, would eliminate the balance of payments surplus.  In Figure 12.3, the factors listed above would cause the demand and supply curves to shift from D2 and S2 to D1 and S1 respectively.  The exchange rate would appreciate from €1.20 to €1.40, and in the process would eliminate the excess demand for sterling (i.e. eliminate the balance of payments surplus).

8.
What are the major advantages and disadvantages of fixing the exchange rate with a major currency such as the US dollar?

It provides monetary discipline over the country. For example, it could not allow inflation to increase without risking causing the current account to deteriorate and hence causing speculation, which could force the country to devalue. Fixing the exchange rate encourages firms to invest, given the certainty about costs and revenues that a fixed rate brings (assuming, of course, that businesses are convinced that the fixed rate can be maintained).



The major disadvantage is that it takes away the flexibility of the country to alter its exchange rate if desired (e.g. a devaluation to help the competitiveness of its exports). It can also lay the country open to massive speculation (as occurred with the Thai baht in 1997) if speculators believe that the fixed rate cannot be maintained.
10.
What will be the effects on the domestic economy under free-floating exchange rates if there is a rapid expansion in world economic activity? What will determine the size of these effects?

The demand for the country’s exports will rise. This will cause a multiplied rise in national income. There will be three effects on the exchange rate: (i) the rise in exports will directly improve the current account; (ii) the rise in aggregate demand will cause imports to rise, and, via higher prices, will dampen the increased demand for exports; it will also push up interest rates; (iii) the higher interest rates will cause an inflow on the capital account. Effects (i) and (iii) will cause the exchange rate to appreciate; effect (ii) will dampen effects (i) and (iii). The bigger are effects (i) and (iii) relative to effect (ii), the larger will be the appreciation. The larger the appreciation and the greater the price elasticity of demand for imports and exports (i.e. the more responsive are imports and exports to the appreciation), the bigger will be the dampening effect on national income, and thus the smaller will be the eventual rise in national income.



This analysis has assumed that there has been no change in international interest rates. If the expansion in world economic activity has not been accompanied by an expansion in world money supply, and hence there has been a rise in world interest rates, then effect (iii) may be negative: in other words, the rise in domestic interest rates may not match the rise in world interest rates, and therefore there will be an outflow on the capital account. If this is big enough, there may even be a depreciation in the exchange rate.

12.
Under what circumstances would the demand for imports be likely to be inelastic? How would an inelastic demand for imports effect the magnitude of fluctuations in the exchange rate?

Where the country does not produce domestic substitutes for a substantial proportion of imports. This would be more likely with a small country or a developing country.



Under such circumstances there would be an inelastic supply of the country’s currency. In fact, it will even be backward sloping if a depreciation of the exchange rate (an hence a rise in the domestic currency price of imports) forces the country to spend a larger amount of domestic currency on imports. This will occur when the overall demand for imports has a price elasticity less than 1. The effect will be to make currency fluctuations greater for any given shift in the demand or supply of currency

14.
Assume that the government pursued an expansionary fiscal policy and that the resulting budget deficit led to higher interest rates. What would happen to (a) the current account and (b) the financial account of the balance of payments? What would be the likely effect on the exchange rate given a high degree of international financial mobility?

(a)
The expansionary fiscal policy would lead to an increase in aggregate demand and therefore an increase in imports. The current account would deteriorate.


(b)
The higher interest rates would attract short-term financial inflows into the country. The financial account would thus improve.


With a high degree of financial mobility, the effect in (b) is likely to bigger than that in (a). The exchange rate will thus tend to appreciate.

16.
Why does high international financial mobility and an absence of exchange controls severely limit a country’s ability to choose its interest rate. 


Because, if its interest rate were lower than international rates, there would be a massive outflow of finance if international finance were highly mobile and there were an absence of exchange controls.  The resulting fall in the money supply would push the interest rate up to the international level.  Similarly if its interest rate were higher than international rates, the resulting massive inflow of finance would increase the money supply and drive its interest rate down to the international level.  These effects are stronger if the country is attempting to peg its exchange rate.

18.
What are the causes of exchange rate volatility? Have these problems become greater or lesser in the past ten years? Explain why.
· Inflation targets. To keep to these targets means allowing interest rates to fluctuate as necessary.  This in turn causes exchange rate fluctuations.

· A huge growth in international financial markets. Banking throughout the world has become increasingly international rather than national. This has encouraged the international transfer of money and finance.

· The abolition of exchange controls in virtually all major countries. 

· The growth in information technology.  With the simple use of a computer and a VDU, finance can be transferred internationally virtually instantaneously.

· The preference for liquidity. With the danger of currency fluctuations, companies prefer to keep their financial capital as liquid as possible. They do not want to be locked into assets denominated in a declining currency.

· The growing speculative activities of trading companies. Many large companies will put together a team of dealers to help manage their liquid assets: to switch them from currency to currency to take advantage of market movements.

· The growing speculative activities of banks and other financial institutions.

· The growing belief that rumour or ‘jumping on the bandwagon’ are more important determinants of currency buying or selling than cool long-term appraisal.  If people believe that speculation is likely to be destabilising, their actions will ensure that it is. Many companies involved in international trade and finance have developed a ‘speculative mentality’.

· The growing belief that governments are powerless to prevent currency movements. As short-term finance or (‘hot money’) grows relative to official reserves, it is increasingly difficult for central banks to stabilise currencies by intervening in foreign exchange markets.

Most of these problems have grown in the past ten years as world trade has expanded, as short-term financial movements have increased even faster and as interest rates are increasingly being used to target inflation rather than exchange rates.

20.
Did the exchange rate difficulties experienced by countries under the ERM strengthen or weaken the arguments for progressing to a single European currency?


They had little bearing on the debate between those advocating a single currency and those advocating flexible exchange rates between members. They did highlight the dangers, however, of fixed exchange rates when economies are not in harmony.  There is therefore a problem for any group of countries in progressing to a single currency if it involves an intermediate stage of fixed exchange rates.  Once sufficient harmony has been achieved, it is better to move directly to a single currency: there can be no speculation between the members if they all have the same currency (any more than there can be between the English pound and the Scottish or Welsh pounds, or the Californian and Maryland dollar).
22.
By what means would a depressed country in an economic union with a single currency be able to recover? Would the market provide a satisfactory solution to its problems or would (Union) government intervention be necessary, and if so what form could that intervention take?

The market solution would be for the lower demand for its products and the resulting higher unemployment to push its rate of inflation down to roughly the average in the Union, so that its exports and domestic import substitutes became more competitive. This may be difficult if it has a higher rate of cost-push inflation, and considerable unemployment could result before market forces drove inflation down sufficiently. A prices and incomes policy might help here. The alternative would be for the government or the Union as a whole to divert resources into supply-side measures in the country, such as building infrastructure.

24.
Is the euro-zone likely to be an optimal currency area? Is it more or less likely to be so over time? Explain your answer.

At the time the euro was launched in 1999, the euro-zone was probably not an optimal currency area. There was still too much divergence between the member economies, insufficient labour and capital mobility, and insufficient price and wage flexibility. Nevertheless, with the further dismantling of trade barriers within the euro-zone, with more and more firms operating in several euro-zone countries, with growing capital mobility and growing competition within the euro-zone, there is progression towards optimality. Whether an expanded euro-zone, with perhaps new members from eastern Europe, would be optimal (at least for the foreseeable future) is much more doubtful.
26.
Why is it difficult to achieve international harmonisation of economic policies?

See the bullet points on page 471.

28.
Imagine that you are an ambassador of a developing country at an international conference. What would you try to persuade the rich countries to do in order to help you and other poor countries overcome the debt problem? How would you set about persuading them that it was in their own interests to help you?


You could try to persuade them to reschedule your debts and to grant new loans on more concessionary terms. This would be in their interests if it enabled you to give a firmer guarantee that the loans would be repaid.



You might also try to encourage them to sign trade deals with you or companies in your country, in order to improve your balance of payments.  This would again be in their interests in that it would enable you more easily to service any loans they had made to you.



You might also try to persuade them to reduce interest rates, both to make it easier for your country to service its debts, and to give a boost to world demand and hence to the demand for your exports.  You could try to show them that a growing world economy was in everyone’s interests.

Chapter 12  Boxes
Box 12.1:  The sterling index
What are the current and previous total weights of the EU countries? Comment.
Old weight was 0.6204. New weight is 0.6998. This reflects the growth of the UK’s trade with the EU as a proportion of the UK’s total trade.

Box 12.2:  Dealing in foreign currencies
Assume that an American firm wants to import Scotch Whisky from the UK. Describe how foreign exchange dealers will respond.
The firm will want to purchase pounds with dollars. It will thus ask banks’ foreign exchange departments for a $/£ quote. The dealers will thus be put in competition with each other, trying to offer the lowest $ price for pounds in order to obtain the business. But they must be careful not to offer so low a $ price that they will be unable to buy the necessary pounds at an even lower $ price from UK importers wanting dollars.

Box 12.3:  The importance of international financial movements
Why do high international financial mobility and an absence of exchange controls severely limit a country’s ability to choose its interest rate?
Because if its interest rate were lower than international rates, there would be a massive outflow of capital if international capital were highly mobile and there were an absence of exchange controls. The resulting fall in the money supply would push the interest rate up to the international level. Similarly if its interest rate were higher than international rates, the resulting massive inflow of capital would increase the money supply and drive its interest rate down to the international level. These effects are stronger if the country is attempting to peg its exchange rate.

Box 12.4:  Currency turmoil
If in 1995 the Japanese yen was already above its long-term equilibrium exchange rate, and was therefore likely to depreciate some time in the future, why did speculators still continue to buy yen? Similarly, why did people sell euros in 1999?
(a)
1995. Because speculators believed that the yen would appreciate in the short term.  This was based on the belief that Japanese interest rates would rise relative to US interest rates.

(b)
1999. Because speculators believed that the euro would depreciate in the short term, even though it was below its long-term equilibrium rate. This was based on the fact that interest rates were higher in the USA than in the euro-zone, and were likely to remain so over the next few months.
Box 12.5:  Optimal currency areas
Why is a single currency area likely to move towards becoming an optimal currency area over time?
Because convergence of the individual economies within the currency area is likely to increase as common laws and policies are adopted, as labour and capital mobility increase and as any remaining trade barriers are reduced.
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